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Friday, November 1, 2019
--- On commencing at 9:34 a.m.
HYDRO ONE NETWORKS INC. - PANEL 4, resumed

Bijan Alagheband,
Henry Andre,
Steven Fenrick,

Stephen Vetsis,
Mr. Clement Li; Previously Affirmed.

DR. ELSAYED:  Please be seated.  Any preliminary matters?

MR. STERNBERG:  Nothing from us, thank you.
Preliminary Matters:


MR. SIDLOFSKY:  Just one programming note, sir.  People will have received a copy of the hearing schedule for this morning, and it extends out to Tuesday of next week.

I would just note that on Tuesday, it would appear that we're scheduled to start at ten o'clock.  I understand that was an error.  It will be starting at 9:30 on Tuesday, November 5th, if the hearing goes that long.  I am not suggesting it has to, but if we do, it will be starting at 9:30 on Tuesday.

DR. ELSAYED:  Thank you.  Anything else?

Okay.  I think, Mr. Pollock, you are next.

MR. POLLOCK:  Thank you very much, Mr. Chair.
Cross-Examination by Mr. Pollock:

MR. POLLOCK:  My name is Scott Pollock.  I am counsel for Canadian Manufacturers & Exporters.  I have a compendium for this panel, and I was wondering if we could get that marked.

MR. SIDLOFSKY:  That will be Exhibit K8.1.
EXHIBIT NO. K8.1:  CME COMPENDIUM FOR PANEL 4.

MR. POLLOCK:  Thank you.  I think now everybody on the panel has one as well.

So my questions are more towards Mr. Fenrick, so I apologize about the sharp angle that I have you at here.  I wanted to start off at sort of the 10,000-foot view just to contextualize a very narrow issue I wanted to talk about.

As I understand it, you conducted two sort of separate studies, the TFP study and the cost benchmarking study, correct?

MR. FENRICK:  Correct.

MR. POLLOCK:  And you used the results of these studies to -- as the material to opine on the appropriate parameters of the IR formula for Hydro One, correct?

MR. FENRICK:  Exactly, yes.  The benchmarking for the stretch factor and the productivity trend for the industry for the productivity factor.

MR. POLLOCK:  So specifically with respect to the TFP, the purpose or the reason why you do it is to try and discover the trend in the industry as a whole and where it's going over time, correct, in terms of productivity?

MR. FENRICK:  Right.  We're attempting to come up with a reliable estimator of the total factor productivity trend in the custom IR years of 2021 and 2022.

MR. POLLOCK:  Understood.  So with the total cost benchmarking portion of it, the underlying purpose is to try and create a model using a number of variables that have a relationship to cost to come up with what the model expects the costs should be for Hydro One?

MR. FENRICK:  Yes.  Sorry, yes, what the expected cost levels for Hydro One would be, given their service territory conditions and what they're faced with.

MR. POLLOCK:  And then you use that to compare it to the actual costs of Hydro One and see if it's worse, better, the same, that sort of thing?

MR. FENRICK:  Exactly, yes.

MR. POLLOCK:  All right.  So if we could turn to page 2 of the compendium.  And this is using the top right-hand corner pagination, so I apologize to the people working on the PDF, but if we could go one page further down.

All right.  So you have a snazzy graphic here at figure 4, and as I understand it, all of the sort of the squares around the sides, these are all of the variables that have a relationship to cost that you put into the model, correct?

MR. FENRICK:  Correct.  Yes.  Those are the variables that had a logical causation reason to impact costs and statistically tested to assure that they had significance in impacted costs and the relationship that we would expect.

MR. POLLOCK:  Okay.  So I am interested in the input prices.

So am I right in thinking in this graphic that is sort of the ten o'clock position, the regional input prices is the box that I should be looking at for that?

MR. FENRICK:  Correct.

MR. POLLOCK:  All right.  And so if we flip the page to page 3 on the top right-hand corner, down one, there we go.  3.2.2 is input prices.

So this is the section that discusses that -- or one of the sections that discusses that box.  Correct?

MR. FENRICK:  Correct.

MR. POLLOCK:  And what we -- what you talked about here is the input prices are divided into two categories, capital and OM&A, and this paragraph or these sets of paragraphs talk about the OM&A part of that.  Correct?

MR. FENRICK:  Yes, correct.

MR. POLLOCK:  And so if we look at the OM&A portion exclusively, that is then split into labour and non-labour, in terms of how you come up with the OM&A portion of this input.

MR. FENRICK:  Right.  Yes.  The input price for the OM&A portion has a labour component and a non-labour component.

MR. POLLOCK:  So for the labour component, as I understood it, you took a number of different jobs and their wage levels.  You looked at various cities both in Ontario and in the areas where you have other utilities, and you took account of various areas and various jobs to put it together into the model.  Correct?

MR. FENRICK:  Correct.  We actually looked at, I would say close to 100 job occupations in different city areas and then created a composite based on which cities the utilities served and aggregated that up based on how those occupations comprise the utility industry.

MR. POLLOCK:  Okay.  And for the non-labour component, you used the GDP index for the U.S. and adjusted it for Canada.  So this is a, I am going to call it a broad-based measure.  This is sort of Canada or U.S.-wide inflation?

MR. FENRICK:  Yes.

MR. POLLOCK:  Okay.  So if we turn to page 7 of the compendium, again, the top right-hand corner, yes, this is -- part of the description here is the capital portion of the input, regional input prices, correct?

MR. FENRICK:  Yes.

MR. POLLOCK:  And so if I could direct you to the third paragraph below the rather informidable (sic) looking formula up there, so for the capital portion you say:

"We determined the relative levels of utility plant asset prices for 2012 by using the city cost indexes for electrical work in RS Means Heavy Construction Cost Data."

Do you see that?

MR. FENRICK:  Yes, I do.

MR. POLLOCK:  Okay.  So I just wanted to dig in to understand what it is that that means.

So if we turn to page 8 of the compendium, yes, this is, as I understand it, an OEB Staff interrogatory from the Hydro One Sault Ste. Marie proceeding.  Is that also your understanding?

MR. FENRICK:  Yes, that's my understanding.

MR. POLLOCK:  And they asked you about -- because your study is the same one, by and large, with a couple of tweaks, that you did in the Hydro One Sault Ste. Marie proceeding, correct?

MR. FENRICK:  Correct.  Yes.  Same utility.  Same sample with a few minor adjustments.

MR. POLLOCK:  Got you.  So they asked you what cities in the RS Means Construction were assigned to Hydro One.  And that is question A.

And your response at response A is, you used the headquarters city for each city -- or each utility, sorry.  In Hydro One Networks case that was Toronto.  Correct?

MR. FENRICK:  Correct.  For the entire sample we used the headquarters city for all of the utilities, including Hydro One, which is Toronto.

MR. POLLOCK:  Okay.  So if I understand how this feeds into the model, the cost expectations for your model take into account what the RS Means Construction cost is for Toronto, but only Toronto and the other headquarters cities for the sample.

MR. FENRICK:  Yes.  When modellizing the capital we're using the headquarters cities.  So those are the numbers that would feed into estimating what the input prices would be.

MR. POLLOCK:  So it doesn't, for instance, do a population weighted in different cities or just take the number of cities that you're operating in and use them equally, it just uses the headquarters city.  Correct?

MR. FENRICK:  That's correct.  And again, consistent with the entire sample that is how it is done.

MR. POLLOCK:  Okay.  If we could turn to page 12 for me, please.  And this is, to orient you, an exchange you had with Mr. Shepherd, I think, at the technical conference for the Sault Ste. Marie proceeding.  And I will give you a moment just to see if that is correct.

Do you recall having this exchange?

MR. FENRICK:  That appears correct, and I vaguely recall the exchange.

MR. POLLOCK:  Fair enough.  So I just wanted to make sure that because this is a different proceeding that the questions and answers in this exchange are equally applicable to the proceeding at hand.

So at line 4 Mr. Shepherd asks:

"So basically you're saying that the expected costs for Hydro One, for example, will be different than for somebody whose headquarters is in Philadelphia, because the construction costs are different."

And you say "correct", and that is applicable to this proceeding as well, correct, and the study you did.

MR. FENRICK:  Right.  The levellizations will be different based on the city headquarters for the utility.  And that's applicable here as well as in HOSSM.

MR. POLLOCK:  So at line 16 Mr. Shepherd asks:

"If Toronto's construction costs are affected by the high amount of construction activity and the inability to get people and cranes and stuff like that, how would that affect your results?"

And you asked for a clarification, but ultimately you answer:

"It would increase the levellization factor of Hydro One."

Is that correct?

MR. FENRICK:  Yes.  If construction costs are higher in Toronto, then that would be reflected in the levelization that we're doing.

MR. POLLOCK:  Okay.  So as I understand it, Mr. Shepherd is asking you about the difference in construction costs between different cities.  So, Toronto being perhaps notoriously heavy industry intensive, may have a higher levelization factor than other cities in the study.  Correct?

MR. FENRICK:  It will have a higher levelization than some cities and, I believe, a lower levelization than other cities such as New York City or perhaps Chicago.  So, you know, it's going to be higher than -- I don't know, Madison, Wisconsin where I am from.  So, yes.

MR. POLLOCK:  Do you have a sense of how many it would be higher than, and how many it would be lower than?  I mean, there's not many New Yorks or Chicagos, but there may be more Madisons in the world.

MR. FENRICK:  I don't have a sense.  I believe it is my recollection that the RSMeans, the average is essentially set at 1.00, and the Toronto Hydro levelization that we're using, I know this that is 112.1.

Sorry.  The normal is 100.  Toronto is 112.3, I believe.  So that's 12.3 percent higher than what kind of the average city would be.

MR. POLLOCK:  Am I right in thinking that the headquarter cities of a utility is something of a formal decision, rather than a substantive decision?  And by that I mean if tomorrow Hydro One decided to, let's say, change their headquarters to Ottawa, where I am from, that wouldn't change the actual costs that they've incurred and the cost pressures that they face.  It is just sort of a formal distinction of where they headquarter, right?

MR. FENRICK:  I don't know if that is entirely true.  There's certainly employees that are located in Toronto and if the headquarters moved, those employees would then move to Ottawa, which may have different regional wage levels.

It is certainly true that the transmission assets of the utility would not move in any way.  So to that extent, where those employees are working on those assets outside of the headquarter city, that would be true.  However, there would be some employees that would be located in the headquarter city.

MR. POLLOCK:  Okay.  So I think that PEG -- I don't want to get into the report too much, but I think PEG comes and brings up a similar although different concern with regard to the levelization and I think their critique of your work -- we don't have to turn it up -- is that it may not account for -- like the headquarter city doesn't account for all of the actual, the people and the assets and the regional prices that Hydro One may have to face in actually procuring them in their day-to-day operation.

Is that a fair summary of what their critique was of you, of your report?

MR. FENRICK:  I believe that's an accurate description of what they said.

I would point out PEG did the exact same procedure in their research that we're doing here.  They used Toronto as the Hydro One headquarter city. So while they make that concern and list that in their concerns, they did the exact same procedure.

I would also point out, you know, PEG listed the RSMeans values for the other Ontario cities, it is really an inconsequential issue.

If we did take some sort of -- I think PEG suggested a population-weighted average.  If we did that for the entire sample and took the time to go and do a population-weighted average for all of the cities in the entire sample, we're talking about inconsequential impact on the results, probably plus or minus one percent could go in either direction.

So I am not really concerned because, you know, we're doing the exact same procedure for Commonwealth Edison in Chicago, which serve also a whole swath of Illinois, the reason Chicago as the headquarter city there as well.

MR. POLLOCK:  Understood, and you bring up an interesting point.  If I could go to page 15 of the compendium, actually.  Right at the bottom, this is from your reply report and at 3.2.8, you discuss the four other items.

And as I understand it, number one in the four other items is what we're talking about, the levelization factor, is that right?

MR. FENRICK:  Yes, that's correct.

MR. POLLOCK:  And if we flip the page over, we see two, three and four, and I want to draw your attention to paragraph 2.  In the last sentence, you talk about how two of four is inconsequential to the result.  Do you see that?  So paragraph 2, last sentence, "This is inconsequential to the result."

MR. FENRICK:  Yes.

MR. POLLOCK:  And if we go to number 3, second line "this is again inconsequential to the result."  So number 3, in your opinion, is inconsequential.  Do you see that?

MR. FENRICK:  I do, yes.

MR. POLLOCK:  Number 4, last sentence:  "We do not dwell on this inconsistency because we believe this is an inconsequential inconsistency."


So number 4 you also say is inconsequential, correct?

MR. FENRICK:  Correct.

MR. POLLOCK:  I notice in paragraph 1 you don't say it is inconsequential, and I took from that that you didn't in fact think it was inconsequential, since you said it for all of the other ones.

MR. FENRICK:  I would actually believe this point would also be relatively inconsequential.  I mean, plus or minus one percent, two percent.  You know, we're at minus 32.9 percent in our benchmark findings for Hydro One.

If you look at the Ontario cities, there's no way, even if you did something as unfair as possible to Hydro One, you would still not get to the negative 25 percent threshold.

MR. POLLOCK:  Fair enough.

MR. FENRICK:  Maybe I should have put that would also be inconsequential in that line.

MR. POLLOCK:  This is a very complicated art that you do and sort of there is a lot of moving parts.  So I am not surprised that one of the moving parts doesn't necessarily equal the whole.

But I just wanted to discuss what you do say about number 1, which is specifically:  "Given that Hydro One serves many remote areas in Ontario where capital prices could be higher than Ontario, this is a good approximation of Hydro One's capital price levelization."


So as I understand your reply to PEG, it was sure there are cities that have a lower RSMeans than Toronto, but they don't just operate in cities.  They operate in some remote areas and those could be higher.

Is that a fair characterization?

MR. FENRICK:  That's a fair characterization.  I think that would also be true for other utilities in the sample as well.

MR. POLLOCK:  You also point us to note 43, and you say at the bottom line:  "Hydro One serves many remote areas that likely increase construction costs."


I wanted to ask you, because in my work as a lawyer, I use words like "likely" and "could" when I don't actually know the answer.

So did you actually go out and look at what the construction cost is in northern Ontario?  Did you aggregate the data and do an analysis on that, or no?

MR. FENRICK:  No.  You are exactly right.  I used the word likely there because we don't actually have empirical proof that that is a fact.

It may be common sense, but the likely there signifies the RSMeans does not have a remote -- a northern Ontario remote area construction cost index that we could use.  We would probably consider that, if that was available.  It's not.

But it makes sense that in remote areas in northern Ontario, construction costs due to travel and how remote that could be, you know, it could likely be higher.

MR. POLLOCK:  You would agree with me that the amount of demand for heavy industry wouldn't necessarily be the same as in Toronto.

You know, if we look at the cost of supply and demand, there are factors which may go both ways, correct?

MR. FENRICK:  Yes, that's correct, that's fair.

MR. POLLOCK:  So am I also right in thinking that the Toronto value as an approximation, as a shorthand, if you will, is also based on how much of the people and the materials they actually get from any given location?

So, you know, if they were 95 percent based in Toronto, it may be a very good approximation. If they were, you know, spent half of many their money in places that were cheaper and half of their money in places that were more expensive, it might be a good approximation.

But if there were an imbalance, let's say if 95 percent of their stuff came from places cheaper and 5 percent came from places more expensive, it might be a less good approximation.  Is that fair?

MR. FENRICK:  I would say that would be a fair  assessment, given if their assets and their construction costs are in reality lower than what we're levellizing, you know, that would probably be, as you phrase it, a less good approximation than if all of the assets or construction costs were located there.

MR. POLLOCK:  My eloquence knows no bounds.  So did you do any study in terms of how much material and labour they get from any particular location?

MR. FENRICK:  We did not look at that.  Again, knowing this would be, in the grand scheme of things, inconsequential to the results, whether we did some sort of weighted or took the Toronto value for the entire -- you know, did the headquarter value for Ontario city and really put in a lot of effort and weight it, we knew it would not move the needle, so we didn't put effort into that area.

MR. POLLOCK:  So I have one last question for you, and it is about this last sentence in paragraph 1 again.  So if we could go to page 16 of the compendium, top right-hand corner.  Yes.

You say:

"This is a good approximation of Hydro One's capital price levellization."

And I put it to you that if you don't know whether the capital prices in northern Ontario are better or worse than Toronto and you don't know how much stuff they're getting from any location, you really don't know whether it is a good approximation of Hydro One's price levellization, do you?

MR. FENRICK:  It is a good approximation, in that it is consistently done with the rest of the U.S. sample.  We certainly don't want to treat Hydro One differently than the rest of the sample.  When you are doing a benchmarking comparative analysis you want to be consistent with how you treat all of the utilities, including the studied utility.

So it is certainly a good approximation.  I wouldn't want to do anything differently than what we have done here.

MR. POLLOCK:  But from the point of view of actually modelling Hydro One's actual costs, you don't know whether it is a good approximation, because you don't know what the costs are in various places and you don't know how much they get from anyplace, do you?

MR. FENRICK:  That's fair.  That's fair.

MR. POLLOCK:  Okay, thank you, those are my questions.

DR. ELSAYED:  Thanks.

MR. VETSIS:  I would like to make one note, though.  I recall from some of the things I heard from the other panel, I don't know that necessarily the labour costs are as variable throughout the province as you would say, given the unionized workforce and the discussions surrounding the flexible workforce that Hydro One brings in as -- I forget the name of the union, the construction something union.  There's a -- if you would refer to that.  You would see the third example there in Hydro One's evidence.  But I don't know that from a practical perspective there is as much of a variability in that regard as you claim.

MR. POLLOCK:  Okay, thank you.

DR. ELSAYED:  Thank you.  Next we have Energy Probe.  Is it Dr. Higgin that is going to be cross-examining?

DR. HIGGIN:  Yes, thank you, Mr. Chair.
Cross-Examination by Dr. Higgin:

DR. HIGGIN:  So I will be starting for Energy Probe, and most of my questions will be on the PSE report, directed to Mr. Fenrick.

Mr. Ladanyi, my colleague, will follow on some other topics.  So I have a compendium.  I think you have copies of the compendium.  So could we get an exhibit for, it is number 4 in the sequence for this panel and panel 5.

MR. SIDLOFSKY:  Why don't we mark both volumes of the Energy Probe compendium.  K8.2 will be Volume 1.
EXHIBIT NO. K8.2:  VOLUME 1 OF ENERGY PROBE COMPENDIUM FOR PANEL 4 AND 5.

MR. SIDLOFSKY:  K8.3 will be volume 2.
EXHIBIT NO. K8.3:  VOLUME 2 OF ENERGY PROBE COMPENDIUM FOR PANEL 4 AND 5.

DR. HIGGIN:  Thank you.  So I would like to start with a question not to Mr. Fenrick, but to Hydro One, and probably this is for Mr. Vetsis.

So could you look at page 3 of the compendium, please.  Thank you.  So this is from your evidence, and it is a summary of the three-year revenue requirements, 2020 to 2022, components and the capital factor.

Now, there may be an update to this.  However, for this purpose I can use this to ask some questions.  So take it subject to check the annual revenue requirement shown in this exhibit is 2020 to '21, 5.5 percent and 2021 to 2022, 5 percent.

So if you compound it, it is 10.75 percent.  Just take that subject to check.

MR. VETSIS:  Subject to check.

DR. HIGGIN:  Okay.  So my only point I want to make here is contextual, that over the two years of this CIR plan, of this 10.75 percent increase, 2.2 percent is due to the I minus X term, approximately, and 8.5 percent is due to the capital term.

Do you agree with that?

MR. STERNBERG:  While they're pausing, given that the questions are asking about particular numbers in respect to the revenue requirement, I might -- it may be more useful if we use the actual updated numbers which are in J1.1, which is, as I understand it, essentially this -- well, the same table, but it has the actual updated figures.  It may be more useful to have responses based on those figures rather than the older ones.

DR. HIGGIN:  I'm fine with that, if you want to use that.  It is only to illustrate a point.

The point I wish to make is that in looking at the overall revenue-requirement increase, only 2.2 percent approximately is connected to the I minus X formula.  The balance, 8.5 percent, my calculation, is the capital factor.  That's all I wanted to clarify, to give us context for what we're looking at today --


MR. VETSIS:  I would just like to give some context as well.  So if you would just give me a moment to find a reference, please.

So I think earlier today the OEB announced its inflation factor for 2020.  So the current estimate is now up to 1.8 percent based on the proposed weighting that we have.

We had provided -- it is in line with the estimate that had been provided in an interrogatory earlier.  And if I could turn you for a moment to LPMA -- sorry, just let me check for a second.  LPMA number 4.  So it is I, tab 4, schedule 2.  I believe in part C of that question LPMA had asked us to provide the calculations with a revision to the 1.8, and you will see that there is now an increased amount of revenue through the inflation factor as to -- so that would be about 3.6, using your simple addition of the two years.  And that would bring down the amounts through the capital factor.

DR. HIGGIN:  Okay.  And that includes the fact that in the formula you're proposing there is a zero X factor and no stretch factor.  Correct?

MR. VETSIS:  Not entirely correct.  There is a stretch factor of zero percent.  Zero percent actually has a meaning when it comes to incentive rate-setting.  That's assigned based on the cost performance of a utility.

So the number is zero, because Hydro One's cost performance is well below that of a modelled utility and Hydro One is a good cost performer and consistent with the calibration of the stretch factor established by the OEB and its policies we have assigned it accordingly.

In addition, we have as well built into the revenue requirement the progressive productivity amounts, which represent a further stretch by the utility.

And if I take you to J --


DR. HIGGIN:  This is not an answer to my question.

MR. STERNBERG:  Let him finish the answer, please.  This is directly responsive to the question.  Please let the witness finish the answer.

MR. VETSIS:  I think it is J2.24, sorry.  Mild dyslexia there.  J2.42.

And in that undertaking at the bottom of page 2, we show that the progressive productivity which has already been built into the cost forecast and is resulting in lower capital factors than what would otherwise be, is the equivalent from a revenue-requirement perspective of a reduction of roughly .15 percent in 2021 and .3 percent in 2022.

So like I said, I disagree with your characterization that there is no stretch and no productivity expectations in the index.

DR. HIGGIN:  I was just going to say I misspoke myself and I said no.  I should have said zero.  Correct?

MR. VETSIS:  Correct.  In consideration of all of the other things that I mentioned just prior.

DR. HIGGIN:  So the context is we are now looking with this panel and Mr. Fenrick at that 2 percent approximately increase over the two years, correct?  That's what we're now going to talk about here.  Are you disagreeing with that in a general context?

MR. VETSIS:  I think we're talking about the 3.6, but all right.

DR. HIGGIN:  Yes, fine.  So can we now look at page 4, please, of this?  So I just had a couple of questions first to Mr. Fenrick.

Basically, when you were asked by Hydro One to prepare your report, tell me why did you do the reply report?

We haven't normally seen one, and it was not usual.  Just tell me why you prepared that and in that, why did you update your analysis in that report.

MR. STERNBERG:  I will jump in at the start.  This may be in part a question that's appropriate for legal submissions, if you wish, on procedure.

I would just note, which is part of why I am jumping in, that this was the same process that was followed in the recent Toronto Hydro hearing, in that there was a responding report from PEG that raised some new points and issues, and there was a reply report from PSE similar to here.

And here you will notice that Hydro One indicated and gave parties a heads-up prior to delivery of the reply report, that given that the PEG report raised a number of new issues and points, Hydro One was going to be delivering a reply report from PSE, like was done in Toronto Hydro, and that is the procedure background to the reply report.

DR. HIGGIN:  So that was the question I was going to ask Mr. Fenrick.  Thank you, Mr. Sternberg.

MR. STERNBERG:  It is not for -- well, it wasn't for Mr. Fenrick to decide whether to do a report, or what the process was in terms of filing material here, which is why I jumped in and provided that background.

DR. HIGGIN:  Okay.  So now that we have --


MR. SIDLOFSKY:  Sorry, Dr. Higgin, I am going to interrupt for a moment.  I feel like I should point out that in the Toronto Hydro case, the reply report came in several weeks before the hearing, not a few days.

MR. STERNBERG:  And that factually is correct.  What I would just note here, so hopefully we can move on, is the reply report from PSE was delivered by Hydro One within days after we had received all of PEG's interrogatory responses.

So there were new issues raised in the PEG responding report, and there were interrogatory questions relating to those.  We got the responses in, I believe, two batches, and within a few days -- four or five days at the most, and I think there was a weekend in there.

If my memory is right, we may have gotten the last of the PEG IR responses on October 10th, so very recently.  And then five days after that, if my memory is right, October 15th I think was the date that PSE was able to deliver their reply report, replying to the various things that came out of the PEG report and those IRs.

So that is the timing as far, as I recall.

DR. ELSAYED:  Fair enough.  Thank you.

DR. HIGGIN:  Can I just ask Mr. Fenrick the second part of the question.  As you did update your benchmark result, did you file the actual supporting evidence for that update to your benchmark score for Hydro One?

MR. FENRICK:  No.  I believe there was not a process set up to file that, the working papers.

DR. HIGGIN:  So the number that we're seeing now, 32 percent, I am rounding, is your updated number.

But there isn't a particular report or analysis that supports that new number, correct?

MR. FENRICK:  I would mention when we updated the -- inserted the 2017 and 2018 data, we made no other changes to the methodology.  So it was purely a data update, all the same variables, same methodologies, same calculations.  We made no changes, other than updating the data.

DR. HIGGIN:  Right, okay.  We will go to that in a minute.  Thank you for that clarification.

So now --


MR. VETSIS:  One last one.  You made a point that there is nothing filed in support.  I think the report itself is in support of the work that was conducted.

DR. HIGGIN:  I am talking about the 32 percent number and the analysis that supports that, sir.

MR. VETSIS:  I'm sorry.

MR. STERNBERG:  If I may just jump in to say the working papers for the model and the study were provided, were made available.  After the reply report, I don't believe Energy Probe or any other party asked to see any update to those, or any further information in respect of the update to the results.

So, you know, they could have asked that.  They have had it now for 16, 17 days.  If Energy Probe is now saying they would like to see any additional working paper content -- I don't know if there is any, but any additional working paper content that supports, or shows, or further explains the update, if that request is being made now, then I am sure those can be made available now, if that is a concern.

DR. HIGGIN:  We are not interested in the working papers.  Basically, I was looking for a table -- and we will come to this in a minute -- that simply shows the difference in the update.  That was all.

I didn't find that table, just bringing it to layman's level, showing the changes that resulted in the new update of the 32 percent.

I saw table 1, which showed the result.  I was asking for the data that showed the US with the new year and Hydro One.

Sir, it's not important.  I just wanted to point out that point.

Am I correct that there isn't a comparison showing those data in summary form, like your other tables 2, 3, in the report.  There isn't a table been filed.

MR. FENRICK:  As you pointed out, on page 3 of the reply report, table 1, we did show the comparison of the results, as you said.

We certainly did not do a full update and redo all of the tables in the original report, that's correct.

DR. HIGGIN:  Okay, thank you.  That is all I wanted to clarify.

Now, we will come back to, if we would, to my compendium, page 4 and this table.  So you prepared this response, Mr. Fenrick, so it indicates.  But of course the data that you put into the response were from Hydro One.

And just to clarify, this is the load forecast outlook you were given by Hydro One to perform or use for your study.  Is that correct?

MR. FENRICK:  That's correct.  The data was provided from Hydro One.

DR. HIGGIN:  Thank you.  Now, just to compare, if you were in the room yesterday, there's been a significant decline in the load forecast again.  And Mr. Andre, for example, showed 20,398 gigawatts in -- megawatts, sorry, in 2018 and again in 2020, he showed 19,586 as the update.

So the only point I am making is the load forecast is continuing to decline.  Would you agree?

MR. FENRICK:  Only based on the testimony I heard yesterday.  I haven't looked into the load forecast of Hydro One.

DR. HIGGIN:  Thank you.

MR. ANDRE:  Sorry, if I could add?  People may look at this table and say, oh, those numbers are different than what PSE has used in their table.

The numbers I was quoting yesterday, Dr. Higgin, were 12-month average peak as opposed to annual peak.  So that explains the difference between the numbers.  But your point about the declining load, I think, is fair.

DR. HIGGIN:  That's all I wanted to establish.  Thank you for the clarification.

Now, if you see the highlighted sentence there, we will come to that in a minute.  You state here:  "Given the definition of the variable..."

And the variable we're talking about is the OLS variable coefficient for demand, correct, in the model?  Is that what you are talking about when we talk about the variable?

MR. FENRICK:  If we want to look at page 34 of our original report, we have the econometric table.  I know people love looking at econometric tables.

DR. HIGGIN:  We will get to it in a minute.

MR. FENRICK:  But, yeah, the D, we have the D specified, D equals maximum peak demand.  That is the variable we're talking about there --


DR. HIGGIN:  Right.  We will come to that in a minute.  Now, the point I wanted to make is that you say it will not decline, and we will come into that, during the forecasted period.

And that -- my take on it is when reading your evidence is because it is set at the 2006 value, which is 27,005 megawatts.  And that stays constant in the model.  Correct?

MR. FENRICK:  Correct.  Given being consistent with the rest of the U.S. sample, how we constructed that variable, we constructed it as a maximum peak demand variable, which means we took the maximum peak demand annually that a utility had, and once they hit that, if they hit that maximum and then they decline, it stays at that maximum value.

I will point out PEG did the same variable definition as we did for Hydro One.  Their U.S. sample is a little different because they go back to 1995, and so there is a little inconsistency there.

But we did it consistent for the entire sample, where we took the maximum peak demand throughout all of the years.  So the 2006 set the maximum peak demand for Hydro One.

DR. HIGGIN:  And that was 27,005 megawatts, correct?

MR. FENRICK:  Correct.

DR. HIGGIN:  Thank you.  So now can we turn -- just go to page 5, and we will just show you -- as you know, this is your report, and so I'm just going to pass straight by to the executive summary on page 6.

I just wanted you to help us a little bit with the points that you have noted here, because this sentence or this paragraph at the top, which is 1, executive summary, highlights the differences between your Hydro Sault Ste. Marie and this report.

So what I would like to understand particularly is just clarify points 2 and 5 and the footnotes, if you could.

MR. FENRICK:  Dr. Higgin, as you said, the update here was quite similar to the HOSSM report that we did, you know, as I mentioned, same company, same sample period.

These were the only five modifications that we made.  Point 2 and  point 5 in the HOSSM proceeding, I believe either in the technical conference or in IR questions that we received, it was pointed out there was data inconsistency, and this is point 2, the three southern companies, Alabama Power, Gulf Power, and Mississippi Power, misreported their annual peak demands, and so we fixed that issue in this report.

And then point 5 -- and I believe this was PEG that pointed this out, I think during the technical conference of HOSSM, that there was some minor issues, I think Mr. Hovde said, no, they weren't really consequential, but, you know, there was issues with the code, and so we have fixed those too, and we're thankful to PEG for pointing those out, that we can now address them and fix them in this report.

DR. HIGGIN:  Okay.  So then looking -- comparing to the Hydro Sault Ste. Marie -- I am having trouble with saying that word -- could you say there were no other material changes, other than those things you have just mentioned?

MR. FENRICK:  Correct.

DR. HIGGIN:  Okay.  So can we turn to page 7.  What I would like to talk about is down at the bottom, the highlighted passage.  This deals with the growth factor.

So just as a segue into this, can you confirm that in the Hydro One Sault Ste. Marie case Board Staff suggested that a growth factor should be included, but the Board in its decision did not accept that for 2019.  Is that correct?  Is that your recollection?

MR. FENRICK:  I don't recall what Board Staff suggested.

DR. HIGGIN:  So Mr. Vetsis, can you confirm that?

MR. VETSIS:  Yeah, I do recall that the OEB Staff had suggested inclusion of a growth factor, but that the panel did not ultimately approve its inclusion in the formula.

DR. HIGGIN:  Right.  So we're still with the issue of growth factor here.  And so as discussed earlier with Mr. Pollock, the output index is derived as a composite of kilometres of line and megawatts peak demand.  Is that correct?  That's the output index?

MR. FENRICK:  The output index in the research is the kilometres of line, of transmission line, and then the maximum peak demand, that same variable we just discussed.

DR. HIGGIN:  Yes.  So in this case -- and we will just go now to page 8 -- so the highlighted -- this is a section from, I believe, Hydro One's evidence, okay.  Not yours, if I remember it correct.  Am I wrong about that?

The top bit is -- you get from your report.  That is the sample.  But this extract, is that from your report or from Hydro One?  If you could just clarify that.

MR. FENRICK:  Dr. Higgin, do you know where you got this from?

DR. HIGGIN:  Well, I believe that it is from Hydro One, but it could be your section 2.2.4, and that's why I'm saying before we talk about this, I just want to get that on the record clearly.

MR. FENRICK:  If we're talking about the same thing here, that section 2.2.4, where the title is growth in output, that excerpt there, if we go down a little bit, that excerpt there is from my report on page 17, section 2.2.4.

DR. HIGGIN:  Thank you.  So my question relates to -- okay.  thank you.

My question is not related to the sample, but to that extract.  At the bottom.  The extract, please.  So following the bit that says -- goes to page 18 there, and it starts with Table 8, then you have an explanation that says that the maximum peak demand will be flat.  That's because, as you have discussed, you've used the 2006 number for Hydro One and also for the U.S. sample.

But the thing I want to focus on here is "the existence of the capital factor is another reason we recommend not including the output growth factor."

So could you just explain that?  Why, because of the capital factor, the G factor -- which we will talk about in a minute -- which is normally found in any revenue cap, correct?  It is normally a construct for a revenue cap.

MR. FENRICK:  I wouldn't characterize it as normally found.  Mathematically it should be found, which I laid out in section 2, with the thought being that revenues should grow in a revenue cap index, not a price cap index, but for a revenue cap index, I minus X, plus the growth in the system should also be part of the formula.

So that from a mathematical perspective, now sometimes simplicity and, you know, it's not found in a revenue cap index, but mathematically it should be.

DR. HIGGIN:  Right.  So in this case, as we have just discussed ad nauseum, okay, the growth is negative.  Correct?

MR. FENRICK:  No.  The growth is close to zero, slightly positive, because the output index should be based on the drivers of costs, it should be a cost-weighted output index.  Not how the utility gathers its revenue, but the costs, you know, what is driving the cost.

And that we've -- in the variable formulation as we discussed, the maximum peak demand is flat, zero percent.  And the transmission kilometres of line are projected to increase very slightly.  So it is essentially zero percent.

DR. HIGGIN:  Doesn't growth affect costs?  Isn't there a direct -- in the models, in the regression models, doesn't growth affect cost?

In other words, demand increases, changes.  Doesn't that affect cost?

MR. FENRICK:  Yes, in the model there's a correlation between the maximum peak demand variable and the kilometres of transmission line. There's a correlation between those variables and cost.  As those variables go up, cost goes up.

DR. HIGGIN:  Thank you.  So it is a debate.  Basically, as you would understand, we do not agree.  So that's for argument.

But the conclusion you have is in bold.  Output growth is not included in the formula.  Is that correct?

MR. FENRICK:  Right.  The formula that we recommended with the inflation factor recommendation, the productivity factor, and the stretch factor, we did not include this output growth factor to be included in the formula.

DR. HIGGIN:  So can you just go back to my first question, and that was how does the capital factor affect it.

Now, just as a segue into that, you were not asked to actually examine or construct the capital factor.  But you took into account how that may affect the I minus X and stretch factor, am I correct?  You didn't actually go into looking at the construct of the capital factor.

MR. FENRICK:  That's correct.  The company provided the capital spending proposal amounts, and then we benchmarked that and evaluated what that would do to their benchmarks and found that the company -- despite the C-factor in the capital spending proposal, is still a very strong cost performer.  So we evaluated that portion.

We did not in any way construct the C-factor or the value of the C-factor.

DR. HIGGIN:  Thank you.  So can we please now go to page -- I am trying to pick up some time here.  So can we go to page 12, please?

So just to summarize this chart -- could you just pull up the chart so we can see the -- thank you.

So this is your original, from the report, conclusions on the TFP analysis, this is correct?  And you can see on the left the industry, and you can see on the right -- just clarify what that analysis shows and how does that affect the X-factor, in 101 for people like me?

MR. FENRICK:  I would just -- before I get into this, I would add that in the reply report, we did update the industry to 2017 and 2018, and found again the negative productivity continued.

So rather than that negative 1.45 percent, the 2004 through 2018 is now negative 1.61 percent.

How that is used is the total factor productivity trends for the industry, given that their negative, show that the expectation, reason that is, we would expect those trends to continue into the 2020 through 2022 period.  And on that basis we formulated a productivity factor of zero percent, you know, in recognition of prior Board precedent in not wanting to accept a negative productivity factor.

So given this strongly negative productivity, you know, we're recommending a zero percent.  But that does imply there is a very strong, what we call an implicit stretch factor, you know, the company had a zero percent productivity factor.  It will have to out pace the industry by a considerable portion to achieve that zero percent, given that the industry is showing a very pronounced negative decline, particularly in recent years.

DR. HIGGIN:  And to your understanding, PEG had a similar result -- not the same, but similar in round numbers, a very similar result from their TFP analysis.  Even though it was a different methodology, the result was very similar.

MR. FENRICK:  Over the same sample period, yes, they're very similar results.

I believe, you know, that negative 1.45 percent over that same time period, they're plus or minus 5 basis points, so really, really close to our results.

Even and even over their longer sample period, PEG is still finding negative productivity trends in the industry.  If they were to update to 2018, we are estimating those would be negative .44 percent.

So even at a productivity factor of zero percent, there is still a strong implicit stretch factor even based on PEG's longer and, I would submit, inappropriately longer time period.  But even with that, they're there's still an implicit stretch factor.

DR. HIGGIN:  I am not here as an advocate for PEG.

MR. FENRICK:  Duly noted.

DR. HIGGIN:  So can we turn to page 14, please, briefly, just to show -- this is your report that was identified as filed on October 15th, and I just had a couple of questions.

If you could turn to page 15, this picks up on something you discussed yesterday. This extract here, which starts with a quote from the transcript, a Mr. Shepherd and Dr. Lowry exchange.

You provided this analysis in figure 5, correct, in your reply report?

MR. FENRICK:  Yes, correct.

DR. HIGGIN:  So can you just help me understand this.  Is there something wrong with the linear trend equation?  Why do we need to have a quadratic?  Please just in theory, 101, please.

MR. FENRICK:  I will attempt a high-level explanation of this.

If we look at the blue line, which is -- those are PEG's, that is using PEG's model as put forth in their report, you see this U shape, this -- I would call it a clear pattern.

DR. HIGGIN:  You used the word bias yesterday, so why not use the same?

MR. FENRICK:  Okay, because it does show a specification bias is the technical term. There should not be a pattern in the residuals of an econometric model, and the residuals are the benchmark scores.

And so what we're seeing is this clear pattern, which results in a bias.  Specifically in what's most relevant to this application, is what it is doing to the recent years and what it is doing to the forecast benchmark scores.

You see by 2018, PEG's model has a bias of 15 percent, which means for all of the utilities in their sample, the average is a plus 15 percent score, when it should be zero percent.

A properly specified, unbiased model would have values hovering around zero percent in a given year.  In a comparative analysis, kind of benchmarking 101, zero percent should be the average score.  There should be half -- half the utilities should be below costs, half the utilities should be above cost.  It should be a symmetric
-- it should approximate a symmetric bell curve.

PEG, in the blue line, their results are not showing that.  There is a bias.  All of the utilities are disadvantaged in the more recent years of their sample, including Hydro One, and that carries over to the forecasted years as well.

To get to the second part of your question, when we include a quadratic trend variable -- which Dr. Lowry, you know, appeared in Toronto Hydro to be open to -- when we include that quadratic trend variable, we can essentially eliminate the specification bias in PEG's model.

Then you can see, and that's the green line, where now the results are hovering around that zero percent expectation of the benchmark scores.

And while I don't -- going back to the 1990s is not my preferred approach, if they -- if PEG is going to go back to the 1990s they need to include this variable to eliminate that bias and just make a fair analysis for the recent years and forecasted years for Hydro One, and the quadratic trend variable accomplishes that.

DR. HIGGIN:  Thank you.  So did you use a quadratic trend variable?  That's my next question.  And have you got the results of that analysis showing your residuals?  Have you got that somewhere?  Can you point that to me?

MR. FENRICK:  If we could go to my reply report, figure 1 will show that.

So we have got the same blue line, which is again the PEG results that they've reported, and it shows the same pattern and bias.

The red line shows the PSE results and how our residuals in the pattern there -- and you can see in the red line our residuals, our pattern is hovering around that zero percent, you know, has far less bias in any given year, and so there is far less of a need for quadratic trend variable in our model, and this is because our sample period starts in 2004.  We don't have the 1990s, which had rapid productivity growth, but is, you know, far -- is quite dissimilar to the situation today.

So in our construct of the model we don't have this specification bias problem that PEG's model clearly has.

DR. HIGGIN:  So that's why I was confused.  I thought when I looked at the green line on the other chart and the red line here, I wondered what the difference was between the two, and you have clarified that.

MR. FENRICK:  Right.  Now, the red line is the PSE results, my results, and the green line in that -- in the prior graph that we looked at, that is PEG's results if we only make one change, leave everything else the same, make one change, add a quadratic trend variable, leave everything else the same, and we can solve the bias problem in PEG's model and it produces a fair analysis for the recent and forecasted total cost scores for the company, and there is a substantial improvement, PEG's results would actually show -- would put them in the .15 percent stretch factor, despite the fact PEG still changed the modelling procedure so they still selected a procedure that harms Hydro One.

But even given that, if we just insert that one variable into the PEG methodology, get rid of the bias, the company is then at a .15 percent stretch factor.

DR. HIGGIN:  Okay, thank you.  I will let them debate that with you.

So can you turn to page 16.  And I am just going to stop one minute before we proceed to look.  This is a chart that was provided to us by PEG.  So -- however, it was missing, of course, your other information from Hydro One Sault Ste. Marie, and so what I've done is to help the panel -- I hope everybody -- I put together a chart that puts on one chart the scores that have come out of the two reports, PEG, and the two reports from yourselves.

Could I point to this?  It is a chart that I am asking to be given an exhibit, because it will help us to look at the both results in total for PEG and for PSE.  So could we have that brought up for the panel.  And I sent it to -- that's not the chart.  The chart is separately sent to Hydro One.  There are copies over there.  This was sent to you.

Thank you very much.  So we should get an exhibit for this, please.

MR. SIDLOFSKY:  That will be Exhibit K8.4.
EXHIBIT NO. K8.4:  CHART PROVIDED BY PEG.

DR. HIGGIN:  Thank you.  I will just wait for the Panel to have it, because it does bring all of the benchmark scores on to one chart, and assuming I have done it correctly -- this does not, however, include PSE's update on this chart.  It only includes the two other charts, the two other ones.

So do you have any comments on this exhibit, please?

MR. FENRICK:  Yes, I do.  I think the first thing I would like to point out is, on the purple line, which is the PEG study for HOSSM, I believe you took that from their original report in HOSSM.

They had corrected results where, you know, just as PEG identified some issues with our research and we corrected those, we found some issues with PEG's, and specifically their capital data, their older capital data they used in their benchmarking study.

When we pointed that problem out that they were using the wrong capital data in their benchmarking study, they corrected their results in the HOSSM case.

When they corrected those results, that purple line we could move down considerably.  The 2020 through 2022 average I know is negative 11 percent.  So that's getting moved down by, you know, 13, 14 percentage points.  Those results are found in an attachment, in the HOSSM case, schedule 6-I.

DR. HIGGIN:  So I missed that.

MR. FENRICK:  I don't know if we have those.  That would be the first thing I would add, is that purple line, PEG's actual results after they made those corrections put Hydro One in a .15 percent stretch factor in their HOSSM research.

They still had the bias problem even after making those corrections.  Even after saying Hydro One was negative 11 in the .15 percent stretch factor, they still that bias issue.

So if you actually look at their HOSSM results after they made that correction, Hydro One would have been in the top five of their entire sample in their HOSSM results after that correction.

DR. HIGGIN:  How do you say that?  I'm sorry.  Point to that, please.  Don't just...

MR. FENRICK:  So here's the PEG results in HOSSM 6-I-B.  And you can see after they made the corrections they would be at, you know, minus 12 for the 2019 through 2022 period, that is actually minus 11 for the relevant CIR period now, which is 2020 through '22.

Looking at their model and given the bias that is harming all of the utilities in the sample, you know, because their bias problem which we just discussed is harming the recent results of all of the utilities in the sample, when you look at these results Hydro One would actually be in the top five of the PEG HOSSM results after this correction.  And that is just by examining their model and looking at the rankings.

DR. HIGGIN:  Okay.  Now, you used a minus 11 percent or something just before.  I'm sorry, I didn't quite catch it.

MR. FENRICK:  Sorry, that is somewhat confusing.

PEG on this table is showing the average for 2019 through 2022, and they did that because in the HOSSM case that was the CIR period for HOSSM.

For Hydro One now, in this application, it is, you know, the 2020 through '22 is the CIR period. So if you average -- if you look at 2020, that minus 13.70 percent, minus 11.00 percent, and then that minus 8.30 percent, I believe the average of those three is now at minus 11 percent.

DR. HIGGIN:  That's how you computed the minus 11.

MR. FENRICK:  Right.

DR. HIGGIN:  Okay.  So with that correction, you are now disagreeing or agreeing with my take on the green line, which is this case?

MR. FENRICK:  Yes.  Looking at those, that looks like to be in the ballpark of what PEG's report states.

DR. HIGGIN:  Thank you.  And the two lines at the bottom, which I call PSE, just clarify which one is which.  And I'm sorry, I did not put in your updated number because I didn't have the data that are shown here to -- for that study.

MR. FENRICK:  Our update would be close to -- would be in that same ballpark.  So those look ballpark correct.

DR. HIGGIN:  Okay.  So what do we conclude from this?  We have two experts dealing with the same subject of the benchmarking of Hydro One's costs to the US.  I find it highly confusing to look at this and see such a divergent result.

MR. FENRICK:  Right.  And if we went to -- if we move that purple line down to the HOSSM results, if you look at the purple line right now, or the green line for that matter, if you go back to 2004, 2005, 2006, 2007, 2008, the results are quite close in all of these studies.

The problem becomes, you know, after 2008 and 2009, the PEG results show that Hydro One's cost performance is declining or getting worse.

You will notice this graph is eerily similar to the graph we just looked at in my reply report, that showed the bias of the figure there, figure 1, where you can see a deterioration in Hydro One's scores over time.

You can see, you know, starting in 2009, the entire sample starts getting worse. Hydro One's graph that you are showing here matches the same pattern.  And that's because PEG's specification bias, specification error is harming the results of all of the utilities, including Hydro One.

So we're seeing this divergence -- where they're pretty close in the earlier years, and we're seeing this divergence in the results, not because of deterioration in performance of Hydro One, but because PEG has this problem, this clear pattern, clear bias in their model that they're not correcting for.

If we inserted a quadratic trend variable into their model, you would not see that divergence. So that's the rationale for this.

DR. HIGGIN:  Thank you.  I am not here, as I said, to be an advocate for PEG.

MR. STERNBERG:  If I may interject to make one suggestion, so that the record is not left unclear.

So this document that was just marked Exhibit K8.4 is obviously a graph that Energy Probe created.  It is not from the evidence.  He has now asked the witness about it.

The witness has clearly said, well, there needs to be some corrections to it, in particular the purple line is incorrect and is supposed to be lower.  And those numbers associated with the purple line -- which is the PEG study from HOSSM -- their updated results were actually something different.

And the red line to reflect the evidence would need to be adjusted down, you heard as well, because of the update that Mr. Fenrick did in his reply report.

So my suggestion would be, if the chart is useful -- we can either just take the chart back because it's been pointed out in evidence that it's not quite correct, so that is one solution to it.  Or if it's useful for you to have a chart like this, then my suggestion would be that this version should be taken back and Energy Probe should make the corrections to reflect the record, and then be given to you so you are not left with a misleading -- a misleading chart.

DR. HIGGIN:  I am fine with that.

MS. ANDERSON:  Thank you, Dr. Higgin.  I guess my question is, given that Hydro One SSM is part of the same company, and so these are kind of your numbers.  Would it be better just for you for you to produce the chart you are Comfortable with?

MR. STERNBERG:  Yes, we can make the corrections absolutely.  If that is easier, we can certainly do that.

MS. ANDERSON:  Dr. Higgin, that's fine with you?

DR. HIGGIN:  No, one thing is not, madam.  It's the fact that they have not provided the numbers for the update in evidence.

If they are going to do the update for the red line, they need to provide the chart with the updated numbers From the -- as well to show we can show the update.  That is the only correct thing.  Otherwise, I'm fine.

MS. ANDERSON:  That was my understanding.

MR. STERNBERG:  We're happy to do that, absolutely.  We will produce, if we take this one back, we will prepare a version of a chart that looks like this, but ensure the lines and numbers are accurate to reflect the evidence in the various proceedings.

DR. HIGGIN:  It shouldn't be too much work, since I have given you the Excel spreadsheet.

MR. RUBENSTEIN:  Can I request, when you are doing that, that it is not just the chart.  It is also the table that shows the numbers.

MR. STERNBERG:  Yes.  We will update that, the table, yes. That's understood.

MR. RUBENSTEIN:  Thank you.

DR. HIGGIN:  Okay, thank can we just go to page 17...


MR. STERNBERG:  Should we physically take this one back and do we want to -- for the one we provide, do we want to have the same exhibit number for it, or how should we...


MR. SIDLOFSKY:  My suggestion would be to give the undertaking, we will number that as J8.1 and this can be the response to the undertaking.

MR. STERNBERG:  I assume we will just remove Exhibit 8.4, since it is going to be replaced by the corrected version coming through our undertaking?

DR. ELSAYED:  Yes.

MR. SIDLOFSKY:  I mean, it's up to the Panel.  Dr. Higgin asked some questions on it, but if it's going to be updated, we could always remove Exhibit K8.4 and deal with it as the undertaking response.

But I think it has been placed on the record, because Dr. Higgin had some questions about it.  So my suggestion would be to keep Exhibit 8.4 and use J.1 as a revision to the Energy Probe chart and table in Exhibit K8.4 to reflect evidence in other proceedings.

MR. STERNBERG:  Whatever is easiest for the panel.  I am content with that, as long as we make a note of that.

DR. ELSAYED:  As a compromise, maybe when you do the Undertaking, just put a note on it that this replaces K8.4.

MR. STERNBERG:  Yes, we will do that, thank you.
UNDERTAKING TO J8.1:  TO PROVIDE AN UPDATED VERSION OF EXHIBIT K8.4


DR. ELSAYED:  Thank you.  Please proceed.

DR. HIGGIN:  Thank you.  Can we turn to page 17, please?  Now, this shows your cost performance in the Hydro One Sault Ste Marie, this extract.

So to help understand, what I want to talk about is the difference for the cost performance between Hydro One Sault Ste Marie and the current report, the PSE report for Hydro One TX, I've prepared a hand-out.

It is just taking two tables from the evidence in the two, and I think the panel may have that handout and you should see this chart.

I gave it to Mr. Arlen and to the witnesses yesterday, so they should be prepared to look at the chart, the handout.

MR. VETSIS:  Dr. Higgin, could I make one small clarification?  You mentioned, just to be clear, that what you mean is the difference between the evidence in the Sault Ste Marie proceeding and Hydro One Networks, not to confuse that we're benchmarking two different utilities.

That's all, just a minor clarification there.

DR. HIGGIN:  I would assume -- yes, okay.  So just let's look at one main question that I have.

I want to look --


DR. ELSAYED:  There is some confusion here.  There is two handouts, I think.

DR. HIGGIN:  It is the first of the two handouts, handout one.

DR. ELSAYED:  Okay.  But handout two is on the screen.

DR. HIGGIN:  Sorry.  Handout two we will be coming to in a minute.  Both handouts were given to Hydro One yesterday, and Mr. Fenrick had copies yesterday of this.

DR. ELSAYED:  Can we give both of them exhibit numbers first, please?

DR. HIGGIN:  We don't need an exhibit really, because it is all from the compendium.  It's just taking two pages in the compendium and putting them together, that's all.  Okay?

DR. ELSAYED:  Why can't we just refer to the page in the compendium instead?

DR. HIGGIN:  Okay.  Well, one is page 10.  The one on the right is from page 10 of the compendium, and this one is from page 17 on the left.

So I took the page 10 one and put it alongside, that's all.

So my question relates to the columns.  First of all, just to confirm that Hydro One actual on the left, as filed in Hydro One Sault Ste Marie, you see the cost over the period and it's very, very similar to the similar column on the right.  Would you agree it is similar?

There's been an update to those costs, but it is close.

MR. FENRICK:  Correct.

DR. HIGGIN:  So if we look at the column next to that, which is the benchmark costs, and on the right the benchmark costs again.  So going to Sault Ste Marie on the left, confirm that the benchmark cost in that proceeding was shown at 3.8 billion, 4,843 million, 932.

That is in 2022, that's the end number.  Correct?


MR. FENRICK:  Correct.  That was the model expected total costs that we found in HOSSM.

DR. HIGGIN:  Right.  Now look at the right.  You find a different cost here of 3,586,170,000 for the benchmark.  Can you explain the difference?  It seems a material difference.  My calculation is it is 6.7 percent less than in Hydro One Sault Ste. Marie.

MR. FENRICK:  That change is due to the five modifications that we listed in our report, the five changes that we made relative to the HOSSM.

You can see that's why the benchmark for Hydro One went from minus 31.8 percent in HOSSM in 2022 to minus 26.7 percent.  That was due to -- primarily due to the change in the benchmark expectations.

DR. HIGGIN:  So in that sense what was the result, in terms of the score for Hydro One between the two studies, Hydro One Sault Ste. Marie, what was the change in score, and what direction was the score change?

MR. FENRICK:  Relative to our HOSSM research in this application, in our original report the direction of the score was the benchmark score was raised or got slightly worse compared to the HOSSM result.

DR. HIGGIN:  Okay.  So my next question comes to -- the last question I have is on the second part of the handout, and I had a couple of questions on the specifications for the two models.  That's on page 20, the current one, the one for Hydro One Sault Ste. Marie, and the other one we looked at earlier is in the compendium.  If you would like to see the page for the other one, it is on page 10, again.

So I put the two together.  So what I would just like to do is look at the specification and particularly on the OLS coefficients for the two studies, okay?

You explained yesterday that is how the coefficients are done.  Am I correct?  And I only do statistics 102.  That's correct, right?

MR. FENRICK:  Sorry, Dr. Higgin, what was your question on the coefficients?

DR. HIGGIN:  The coefficients are prepared from an OLS, ordinary least squares, analysis of all of the variables that Mr. Pollock showed you there in -- as shown on these charts, correct?

MR. FENRICK:  Correct.  The coefficients in this table in -- the coefficients are what calculate the benchmark scores.  That is what is relevant and important.

We use the same procedure in both HOSSM and Hydro One transmission here, which was using the ordinary least squares or OLS coefficients.

DR. HIGGIN:  Thank you.  So the thing that I note when I look at these -- and you can confirm or whatever, explain -- is that the demand variable D and the D squared was negative in Hydro One Sault Ste. Marie and positive in this evidence.

MR. FENRICK:  The D squared, which is that underneath the shaded D, the D multiplied by D, that is, you know, that's what you're referring to as the D squared variable.  That was negative in our original HOSSM report, and then was positive now.

The rationale or the reason for that is, I believe that was modification number two, during that proceeding PEG noticed the southern companies had reported the wrong peak demand variable values.  So in a response we corrected that in HOSSM, and then have also continued that correction.

So primarily the reason for that switch is because we corrected the data in the data set.

DR. HIGGIN:  There was only three utilities that you did the correction for out of the 57.  Is that correct?

MR. FENRICK:  Three out of the 57.  Correct, the southern companies are relatively mixed.  They're smaller, but there is also larger utilities within that group, but, yes, three out of the 57.

DR. HIGGIN:  Thank you.  And so then we look at the -- the next one I just wanted to discuss is kilometres and kilometres times D.  That was positive in Hydro One Sault Ste. Marie model, and with the same data set it is negative in this evidence.

MR. FENRICK:  Yes.  Again, due to the correction in the data and specifically the peak demand data of the southern companies is why we see the change in the model coefficients.

DR. HIGGIN:  You can understand from a layman like me that does statistics 102 that I wouldn't see that that correction to peak demand of three out of 57 utilities would have such a major effect on the OLS for those -- that variable, those two variables.

MR. FENRICK:  It certainly did change those quadratic variables in the model.  It's technical, but those quadratics at the mean actually don't matter.  It is when you -- because they're logged, and the log of one is zero.

DR. HIGGIN:  I understand.

MR. FENRICK:  So the quadratics actually don't impact the benchmark scores at the mean.  It is only when you get to the outlier utilities that they will have -- it can have an impact.

From a layman's perspective, yes, some of these quadratic variables changed.  The results were quite similar, as we just showed.  So it didn't really -- it didn't have a large impact on the results for Hydro One and the benchmark scores.  You know, if we nitpick the coefficients there were some changes there.

DR. HIGGIN:  Right.  So again, from a layman's perspective, you're saying that -- do you know what that effect was?  Did you actually test or do you have, I guess, evidence -- and I haven't been through the working papers -- to actually show that that change is related to renumbering of the peak for those three utilities?

I still cannot, with as little as 102 -- reconcile that change.

MR. FENRICK:  In the HOSSM we filed an interrogatory response -- I don't have it offhand -- but where we made that change and showed the results.  So we know the reason for the change in the coefficients was due to fixing the southern company's data.

DR. HIGGIN:  Fine.  Thank you.

So just finally on page 22, you've introduced in Hydro One Sault Ste. Marie a new variable.  That is the CS variable.  And I just have a little extract of section 9 here which discusses that variable.

And I had two questions when I looked at it.  Again, at a layman's level looking at the map, this map deals with construction standards variable and the construction standards that are related to CSA and then in the U.S. I assume that it would be NERC that did that.

So that is what this map shows.

MR. FENRICK:  It is actually the NESC --


DR. HIGGIN:  Sorry.

MR. FENRICK:  -- in the United States.  It is the National Electrical Safety Code for the United States, and then, as you said, the CSA in Canada.

DR. HIGGIN:  So the only thing in looking at the map -- and I know it is small, but basically, I was surprised when I looked at it that -- not surprised that along Lake Superior Hydro One transmission would have been in the dark area, a heavy zone, but I was surprised when -- and also, I was somewhat surprised for north of Georgian Bay, the yellow.  But I was very surprised when I came to southern Ontario that it would be in the "heavy", so can you explain why the map shows for southern Ontario that the standard is for heavy?

MR. FENRICK:  We used the CSA published standards, so no, I cannot explain how CSA came up with those minimum construction standards.  That is certainly out of the realm of my expertise.

DR. HIGGIN:  Okay, thank you.  Those are my questions, thank you.

DR. ELSAYED:  Thank you.  We will take our morning break now and be back at 11:25.  Thank you.
--- Recess taken at 11:05 a.m.
--- On resuming at 11:29 a.m.

DR. ELSAYED:  Please be seated.  I understand, Mr. Ladanyi, you are up next?

MR. LADANYI:  Thank you, sir.
Cross-Examination by Mr. Ladanyi:


MR. LADANYI:  Good morning, panel.  My name is Tom Ladanyi.  I'm a consultant to Energy Probe.  I don't have too many questions.  I just want to ask, let's say some high-level questions and pull back from the numbers that we have looked at and look at the overall picture.

So before we go to my compendium, which is, by the way K8.2, I have a preliminary question.  Can you turn to CCC Interrogatory No. 3, which is I, tab 11, schedule 3.  And if you can pull up attachment 1 on the screen, which is the organization chart.

And particularly, I was interested in the area where regulatory affairs is located.  And I was looking for vice-president of regulatory affairs and I couldn't find him.  I see that Frank D'Andrea is now vice-president, chief risk officer.  Is that right?

MR. ANDRE:  Yes, that's correct.

MR. LADANYI:  So -- and you report to him, Mr. Andre?

MR. ANDRE:  Yes, I do.

MR. LADANYI:  So do I get the impression then that risk and regulatory affairs are now together in the same department?

MR. ANDRE:  No.  That's not correct.  Frank has
that -- Mr. D'Andrea has that accountability, but it is more a function of his role.  Risk is not within the regulatory group any more.  He manages that group as a hold-over from his previous duties, and I expect that will probably be addressed in a future reorganization.  So that is more of an interim step to have him maintain that accountability, because he did maintain that in his previous role.

MR. LADANYI:  I thought when I saw the chart this was an interesting pairing, like the wine with the food, risk and regulatory, or putting it another way, as Mr. Harper said to me this morning, regulatory -- or ratepayers are your greatest risk; is that right?

[Laughter]

MR. ANDRE:  No comment on that.  As I say, it is more of a hold-over of his previous duties, and I think that will be addressed in a subsequent reorganization.

MR. LADANYI:  Very good.  And Mr. Vetsis, you are not on this chart, because you are not -- I guess this goes down to director level.  You're not a director?

MR. VETSIS:  As far as I know, no.

[Laughter]

MR. LADANYI:  You're what I would call a designated hitter; is that what it is?

MR. VETSIS:  Yes, yes.  I report, actually, to Mr. Andre.

MR. LADANYI:  Okay, very good.  Thank you.  So we can now turn to my compendium.  And let's start with page 2.  That's not my compendium.  It is Volume 1.  Sorry, it's the wrong compendium.  It is Exhibit K8.2.  K8.2.  I sent it out -- it was sent on, I think a couple of days ago, electronically, and it was handed out this morning.  It says "Energy Probe compendium Volume 1".

[Compendium distributed to intervenors

and Panel members.]


MR. LADANYI:  Does the panel have it, Mr. Davies?

DR. ELSAYED:  Yes.

MR. LADANYI:  And the witnesses have it?  Can we have it on the screen, please.  Okay.  Computer freeze problem.  Perhaps we can start rather than waste time waiting for the computer to unfreeze itself.

So looking at page 2 -- and I'm sorry for those who don't have it in front of them -- that is from your filing.  Exhibit I-2, tab 5, schedule 1, page 2.

And Table 2 shows the average bill impacts on transmission and distribution connected customers.  And I understand from the evidence in this case so far that this table actually has been updated.  Has it, Mr. Vetsis?

MR. VETSIS:  I believe there's a revised version in J1.1.

MR. LADANYI:  Right.  But I just conceptually want to talk about the numbers in terms of their scale, not necessarily in what they say.  So let's just use the table in the filing or in my exhibit and then if you can correct me if it really changes the answers drastically.

So I believe in the table first for 2020 -- see the column for 2020 -- I think we heard yesterday that the impact of load forecast change since 2018 is 3.8 percent.  That number has not been changed, has it?  Mr. Andre?

MR. ANDRE:  No, it hasn't.

MR. LADANYI:  Okay.  Very good.  And then if you look at the -- on the line below 3.8, it says "net impact on average transmission rates".  So we see that average transmission rates since 2018 have gone up by 8.5 percent, and that number has been changed now, hasn't it, Mr. Vetsis?  What is that number now?

MR. VETSIS:  If you give me a moment just to find J1.1.

MR. ANDRE:  I have it.  That number now is 6.6.

MR. LADANYI:  6.6.  And the numbers in the 2021 column is 5.7.  It is now what?

MR. ANDRE:  So it is -- yeah, I guess I was getting confused, because your 5.7 -- but that must have been -- that wouldn't have been the blue-page numbers, I think, because in Exhibit -- in Undertaking J1.1, the number that was in the blue page was 6.2 for 2021 and now it is 5.7.  So it actually hasn't changed --


MR. LADANYI:  It hasn't changed.

MR. ANDRE:  -- it is 5.7.

MR. LADANYI:  Okay.  Very good.  Thank you.  That is very helpful.

So if you can turn to page 4 of my compendium.  And here we see the table of revenue-requirement changes since 2018.  And without going through each line -- and I understand the 4.7 is now a different number -- the conclusion one can draw here is that costs are increasing faster than inflation.  We just heard this morning from Mr. Vetsis that the inflation is 1.8 percent; is that right?

MR. VETSIS:  That's correct.

MR. LADANYI:  So both years -- unless something has drastically changed -- are significantly higher than inflation.

MR. VETSIS:  That is correct.

MR. LADANYI:  Okay.  So let's go to my compendium --


MR. VETSIS:  I would just note that, I mean, clearly the driver for this is the capital ask in the application and the capital factor.  And certainly a graphic that I find helpful when trying to assess context to the application is in Appendix -- Exhibit A-3-1 --


MR. LADANYI:  Yes, actually, if you look at A-3-1 it is on page 5 of my compendium.  I am just going there, to page --


MR. VETSIS:  Oh, actually, I would suggest that the one I was talking about is actually page 16.

MR. LADANYI:  Okay.  If you want to bring it up on the screen, if that would help you.

MR. VETSIS:  Sure.  And just for a sneak peak at what we're going to be looking at, and it's been talked about throughout this proceeding, it is the one slide placemat that talks about what the investment plan is getting, and we have the column of -- it says specifically what we are getting.  I would just like to zoom into what we were getting column, particularly in the bottom area of asset age.

So just again to provide perspective, you are correct, the rate of increase of rates is higher than inflation, and it's driven by the asset needs here, and you can see from an illustrative perspective the level of spending in this application is at the level required just to maintain age and condition of our assets.

MR. LADANYI:  Very good.  Thank you.  I saw that, and I was here for panel 1.  There was a lot of discussion about this.

So if you go back to my page 5 of my compendium, which is also in Exhibit A-3-1, schedule 1, page 24.  And we can see this summarized, and we can see here that some of your categories, in fact most of your categories, are in fact going down since 2018.  There OM&A is going down by 1.2 percent and so on.

What it is really increasing is the rate base, which is your capital spending, which you just explained to us the reason for the increase mainly is because of the capital plan.  Would that be right?  It is still 5.3 percent, isn't it?

[Witness panel confers]

MR. VETSIS:  I would note some of the increase here in 2020 is actually capturing the historical impact of -- we had an inflation-only application in '19, so some of what is happening here in 2020 is actually the catch-up in updating rate base for the assets that were put into place in 2018, 2019, sort of.  So you would have the half-year rule of 2018, as well as what happened in 2019 as well.

So there is -- it's also that historical component as well.

MR. LADANYI:  Yes, that is very helpful.  And I notice this is actually a two-year increase from 2018 to 2020.

If I go down to total change, so total change is a 7.5 percent increase.  So are you saying that is roughly -- that's the right number?  It is still a substantial increase, isn't it?

MR. VETSIS:  You are also including in that value the deferral and variance accounts.

MR. LADANYI:  Right.

MR. VETSIS:  Some of those aren't -- again, some of those are not -- those elements are not necessarily related to the costs being sought for recovery in this application, or in the investment plan.

MR. LADANYI:  Correct.  But the total change would include really what are big numbers on this table.  The big number is rate base and deferral and variance accounts.  They're the big numbers.  The other numbers are small, or negative.

MR. VETSIS:  Just mostly agree with you.  Just to be clear that in the case of the deferral accounts, it is an increase because of a large credit that's no longer being applied to the revenue requirement.

MR. LADANYI:  Definitely.  Okay.  So you would agree with me that input costs are increasing, primarily capital and I understand the withdrawal of the credit.  But input costs are increasing.  That would be -- that's a given here.  I mean, it is not a complicated question.

[Witness panel confers]

MR. VETSIS:  I would agree that input costs are increasing.  However, on a total cost basis, the benchmark scores are in fact improving over time.

MR. LADANYI:  That may well be the case.  So if you turn to page 6 of my compendium, here we see on the table at the bottom -- can you scroll down?  Yes.  That is the Ontario demand and we see that your output is actually decreasing in this period.

So Ontario demand is the output as we see it, that's your product.  So your costs are going up and your product is going down.  Would that be right?

MR. VETSIS:  I would say that demand is going down.  I mean, ultimately our product is the transmission assets themselves that we have to maintain and keep running for our customers.

I mean, clearly there is a lot of changing circumstances here in Ontario.  Right now, the amount of distributed generation connected to the system is about 20 percent of the transmission peak load.

So while -- again, our product here is the maintenance of that assets and ensuring that power can be delivered to customers.

What you are discussing is essentially the customer use of the product.

MR. LADANYI:  So let me put it to you this way.  If Hydro One were operating in a competitive market, it would cut spending in response to falling demand.  That's what companies do in an unregulated business.  But Hydro One is regulated, a monopoly.  So as we see, it is actually increasing spending in response to falling demand.

And as we know, regulation is a substitute for competition.  So what happens is the –we are trying to create quasi-competition.

And how do we square this, this problem here, that you're actually doing something opposite to what a competitive industry would do in situations of falling demand.

MR. VETSIS:  I don't know that that's a fully fair statement.  Clearly, other elements exist, such as changes to rate design, for example.

Ultimately, what we're seeing here, a big driver of this decline in demand which my colleague has talked about, is the ICI program.

So we're talking about customer reactions to a subsidy that's been provided to them from government to the extent that they can install behind-the-meter facilities to shift their own costs, and that's what is manifesting itself here.

Certainly, you're right.  Potentially, a competitive company could cut costs.  The other thing it could do is alter the way it recovers costs from the people that use its product more appropriately, and sort of share that recovery.

MR. LADANYI:  We're getting too much into philosophy.  In a competitive market, obviously you could advertise your product, you can market it.  But you cannot do this, clearly.  So I am not expecting you to do this.

MR. VETSIS:  Fair enough.  If you are talking in practice, you know, like I said, there are changes in customer patterns.  The OEB had a whole three-day session about a month ago to talk about this.

From a practical perspective, the assets themselves are put in the ground and we continue to maintain them.  The main goes down, you're not going to rip down a tower because customers are using less.  You are going to continue to use that asset.

I think I heard panel 1 talk about, earlier in this hearing, how when it comes time for replacement at the end of life, they do an assessment of the needs that are required there for the long term.

So perhaps in the long term, if habits change and then in the long term, as the company starts reassessing the needs when assets come to replacements, you might see costs come down over time.

But I think in the near term, there's that disconnect.
The assets stay, they continue to be what they are, and you continue to maintain them.  And I wouldn't necessarily expect that where you have unincented benefit for customers for their own consumption patterns, that you would necessarily see a very quick short term reduction in the underlying costs of the service itself.

MR. LADANYI:  Basically, in the simplest terms, productivity is doing more with less.  And I would say then the opposite of that would be unproductivity, which is doing less with more.

And what I see Hydro One doing is it's doing less with more.  You need more and more money to actually do less and less work.

Wouldn't that be one way of looking at what is going on here?  That is why the rates are going up?

[Witness panel confers]

MR. VETSIS:  I don't know that you can characterize dropping demand as less work.  The work is driven by the asset needs themselves.

So like the maintenance is still required on these assets and as I said, you are not going to rip out a transformer just because the current demand has dropped in the short term.  You are going to re-evaluate in the long term.

MR. FENRICK:  If I could just add to that as well?  We're seeing the same trend in the full industry as well.

So the factors that -- as you mentioned the productivity, these same factors are in play throughout the entire industry as well.

MR. LADANYI:  Thank you, Mr. Fenrick.  That's an interesting point, because I think the way it looks from here is that Hydro One is benefiting for being part of what I would call a loser's club, a club of utilities that have reduced, falling productivity.  And therefore, it's not as bad as some of the other losers in the loser's club.

Would you agree with that, Mr. Vetsis?

MR. VETSIS:  No, no, that is pretty negative.  But I think what you're seeing here is a bit of a manifestation of the fact that we are experiencing a technological change in the sector.  I mean, that traditional paradigm of big distribution facilities, you know, your power plants that are far away, transmitting through the transmission system to distribution, that is changing a little bit with the advent of technology.

I think there's a significant amount of our power is still generated through these large baseload facilities.  The need for transmission service exists.

I think what you might be seeing perhaps is a bit of a change in the nature of the benefit of transmission service, whereas perhaps, you know, customers now maybe find a benefit shifting away their peak to avoid some generation costs, but they still rely on that connection.  They still rely on the transmission system for the standby for it to be there for them, and this is sort of similar to the issue the distributors are experiencing is trying to figure out, you know, we're in a period of transition, and I think we will have to figure out over time, not in this proceeding, by the way, how do we start to better value the benefit of transmission service and how we would recover that, so...

MR. LADANYI:  I was in the other proceeding where we discussed the future, which was the DER proceeding.  And the subject that came up there is the possibility of stranded assets.  So one concern the ratepayers would have is, you keep investing in assets which might shortly become stranded.  There's a concern that perhaps you're not going in the right direction, and I think, is that a concern of yours as well?

MR. VETSIS:  Well, I think what -- I am not a planner.  I don't do these, you know, analyses day to day, but I do recall hearing on panel 1 them discussing how when it comes time for replacement of assets, when we do have that opportunity to take into consideration the changes in circumstances, the company does that.

And I think they mentioned, I think it was at one of the stations feeding Hamilton, how they went from six transformers down to four because the demand had declined over an extended period of time, and it was determined that that is not required in the long-term.

So to a certain extent, while that risk may exist, I would say certainly from Hydro One's perspective we ensure from what I heard from the panel is that we ensure that that risk is mitigated to the extent possible through our analysis.

MR. LADANYI:  Okay.  Let's go back to my compendium.  Let's go to page 7, which is, I think, the next page in the compendium.  And there is the chart that --


And by the way, first, this is a question for you, Mr. Andre.  What is the difference between the numbers in the loads -- they're actually not different -- in Ontario demand and billing determinants?  There is really no difference.

DR. ALAGHEBAND:  Ontario demand reflects all the things that we sell inside Ontario.  It includes generation, plus imports, minus exports, and it includes transmission loss going from generation to the customer delivery points.

Charge determinants are based on customer delivery points, so it excludes the transmission loss.

MR. LADANYI:  So if I look on Table 5 on page 6 for 2020, I see 19,586 megawatts.  And then I turn over to Table 6 on page 7 and I also see 19,586.  So should I not be looking at those numbers?  They seem to be the same on Table 5 and on Table 6.  They're actually in your exhibit on subsequent pages.

DR. ALAGHEBAND:  So the first column shows the Ontario demand, and the other ones, the other three, are showing the network charges and connection charges.

MR. LADANYI:  Those ones are actually used for setting rates, are they?

MR. ANDRE:  Yes, that's correct.  Yeah, for setting rates we use the network line connection and transformation connection charge determinants.

The Ontario demand is a composite number that reflects all of Ontario, as Mr. Alagheband explained.

MR. LADANYI:  So on the first sentence below the table on page 7, you mention that the proposed decrease in 2020 charge determinant load forecast relative to the currently approved 2018 load forecast, per EB-2016-0160, results in an estimated 3.8 percent impact on the rates due to load.

MR. ANDRE:  Yes, that's correct.  And that is why you see that slight difference.  You see it is 3.8 percent, whereas if you go to the table above, the change in Ontario demand is actually 3.9.

But if you look at what it means in terms of a rate impact on the network it is 3.9.  On the line connection it is 3.4.  On the transformation connection it is 3.7.  So 3.8 is the actual rate impact which is tied to the charge determinants.

MR. LADANYI:  Although not shown on the table, I recall you saying yesterday, and maybe I didn't write it down correctly, that in fact the 3.8, a large part of it was changed from 2018 to 2019, which was 3.5 percent.

MR. ANDRE:  No.  Actually, most of that change, it's what you have at 2018, but the bulk of that drop in actual load actually happened in 2017, when that first change to the ICI program kicked in.  The bulk of the drop happened in '17, and then there was a small continuation of that drop in '18.

MR. LADANYI:  Fine.  Thank you.  So can we now turn to page 8 of my compendium.  And there in the first paragraph you're saying that methodology utilized is a revenue cap IR, in which the revenue requirement for the test year, T plus one is equal to the revenue requirement in year inflated by the revenue cap index as set out below, and then you discuss that.

And if I can turn then to the next page in the compendium, which is page 9, and the reason why I brought up this -- this is from the Hydro One Sault Ste. Marie -- no.  Sorry, it's Hydro One distribution case.  EB-2017-0049 -- is that it is Staff Interrogatory No. 21 from that case.

The only reason I brought it up is because it is the only place where the actual revenue requirement, revenue cap equation is shown.  You can see it, the equation close to the bottom.  And that's rev T equals rev T minus 1, times function in brackets, which is 1, and another bracket, 1 minus X plus G, and you can see there, and so that is the, I want to call it the traditional revenue cap form.  Is that correct, Mr. Fenrick, possibly, or I don't know who is the expert on equations here.  You have no reason to doubt that equation, do you?

MR. FENRICK:  No, no.

MR. LADANYI:  Very good.  So if I look at that equation -- and I know that is not what you are proposing.  You're calling it a revenue cap, but you actually don't have achieved -- but suppose you have -- you actually had used the other equation.  The function in the brackets would be 1, plus, and then open brackets, and I would be now -- would it be 1.8?  And then X would be zero.  So minus zero, and then you would have a growth, and growth in your revenues is actually negative.  It is negative 3.8 percent; isn't that right?

MR. FENRICK:  I would point out from a mathematical perspective that G should not be how revenues are gathered.  It should be what's called a cost-based output index, and that -- how we calculated the X, it should be consistent with how the productivity factor is calculated.  And that's using the two output variables that we discussed, the maximum peak demand and the kilometres of transmission line, and that G is, you know, projected to be right at zero percent, you know, a growth of .01 percent or something fairly negligible.

MR. LADANYI:  Actually, it is not entirely cost-based.  What it is actually is -- and I believe I am correct in this -- the G is actually costs that are incurred to serve new customers to produce new revenue.  So that would be, for example, if you are adding new facilities, new transmission lines, and you would get as a result new revenues, that would be would be a G, but if you are actually not doing that, just, you are spending money and not producing any new revenues, then you cannot use that G.  That G has to be a revenue-related thing.  It is not another cost input.

MR. FENRICK:  It might be helpful to look at section 2 of my report, where I lay out the math for the theory, the mathematical theory of G.

And in that, the weights or the outputs of G should be cost-based and consistent with the TFP analysis from a purely revenue cap theory perspective.

MR. LADANYI:  I have it, actually, on page 17 of my compendium.  We can turn to it, if that is what you are talking about.  Is that the derivation that you are discussing?  Or should we be looking at something else?  It is page 17 and 18 of the compendium.

MR. FENRICK:  Yes.  So, yes, in the section 2 of the report, which is where we put this -- you notice O, O here is the output growth, which is analogous to the G we're talking about.

The O is the same O that goes into formulating the x-factor or the TFP trend.  So if you look at equation 8, on page 15 of the report, of my report, that TFP trend plus O, that needs to be the same O, the same output growth, that is calculated for the TFP trend, as well as this output factor, this G.

So from a mathematical perspective, it should be the same variable construction as the TFP analysis.

MR. LADANYI:  I am putting to you that your derivation here is trying to show us that actually a cost input is equal to a cost output, and that should be only be if we're in a cost-of-service proceeding, shouldn't it be?  We are not in a cost -- the formula should provide an incentive to the utility to contain costs.

But if you are just saying, well, increase in costs gives you higher rates and that's good, so I mean the sky is the limit here, isn't it?  Like you're essentially using cost input as a justification for higher rates.  That's it.  There is nothing else. That's what the equation shows.  There is no output here.

[Witness panel confers]

MR. FENRICK:  No, I don't think that is an accurate depiction of what the mathematical derivation of this is.

There is an incentive to control costs at -- because it is an external formula that the utility is not a cost based formula.  It is I minus X plus G, and those are sternly derived indexes.

And so just from a mathematical derivation perspective, it is not related.  That G is not related to the costs, the actual costs of the utility.  So there is no disincentives in that construction.

It's related to how the outputs have grown and that definition of the output needs to be consistent with the TFP.  It's not related or connected at all with the actual costs of the utility in that derivation.

MR. LADANYI:  I was involved in many other proceedings, as you know, and a number of years ago when I was with Enbridge, we had a revenue cap per customer proposal and G was really the growth in number of customers, and it was related to the cost required to serve each new customer that produced revenues, essentially.  A new customer gave the company revenues to fund those investments.

But this doesn't do this.  You see, this does not -- the investments are not creating any new revenues here.  In fact, revenues are going down.

[Witness panel confers]

MR. VETSIS:  I appreciate there is a bit of a theoretical discussion happening here.  But like -- I mean, I think it is important to sort of bring it back to reality in this case.

The reality in this case is that we have an application seeking funding to conduct work that has been identified through detailed asset management practices.  The C-factor and the proposed revenue cap index will reflect those investments, and any costs associated with growth for new customers.


You are right that overall, demand is declining.  However, there are pockets of the province that are experiencing some growth, such as Leamington, and there are places such as the Toronto area which are having capacity issues.

So there are places, pockets within the system that have to be invested in.

Again, you are having a theoretical discussion here where costs equal revenue always.  It is important to note that in the practical world, we don't -- the system hasn't been built up by the same amount every year for 60 years.

You have bulky periods.  So, for example, a new line would be a huge investment which will happen at one point, and it will be around for 60 years.  And 60 years from that, it may cause another bulky period where additional costs are required.

So I understand the desire to have the nice theoretical discussion.  But when it comes to the actual practicality of what is here before the Board, there are asset needs supported by an asset management practice, and the revenue cap index is the way that we're seeking recovery to work -- perform that work and make sure that the appropriate incentives are in place on the utility to continuously improve while maintaining the level of service that the customers require.

MR. LADANYI:  Okay, thank you.  I don't want to have any more theoretical discussions.  We can leave that for argument.

Let's go to page 12 of the compendium.  Since you mentioned the C-factor, you will see on page 12 -- actually in preceding pages you will see -- this is a Staff Interrogatory, No. 5 from this proceeding, Exhibit I, Tab 1, schedule 5.  And question C deals with your C-factor proposal and is asking you to explain, "Isn't Hydro One's custom IR plan," the last sentence:

"As proposed equivalent to a three-year cost-of-service plan, with revenue requirement rebased through a cost-of-service approach for 2020, with formulaic adjustments for inflation on OM&A and inflation and capex growth on the capital-related revenue requirement for 2021 and 2022."


And I have read your answer, and your answer is on page 14 of the compendium.  And I would like you to expand on this answer because I believe -- I don't think you really answered it properly and there is some issues here.

So maybe you can -- I will give you a chance to read your answer C and see if you want to kind of prop it up a bit.  I don't want to stump you here.

[Witness panel confers]

MR. VETSIS:  So first things first.  I continue to agree with the statements that are here.

I would just also like to go back to the actual question itself, and perhaps I should have included that in my response as well.

I mean, essentially the question is asking if you ignore the fact that you are inflating OM&A mechanistically, and if you ignore the fact that you have this mechanistic adjustment, how is this cost of service?

So the basic premise of the question, first of all, even -- those qualifiers are important.  Those are important distinctions from cost of service.

And the other thing I would like to make, the other point I would like to make in addition to what is already here is at the end of the day, the costs sought for recovery in this application are not the cost of service.

The cost of service is the capital costs as forecast with known productivity initiatives shown in the ISDs, gross of productivity.

What we're seeking recovery for is the C-factor net of progressive productivity.  So we're taking the actual cost of service of the capital work and we're putting in a reduction to what we're seeking rate recovery for, to incent ourselves to achieve those amounts.

So I think that is a very important distinction.  We have already gone to JT2.42.  I have a feeling I am going to be going there a lot, but just to remind everyone, the progressive productivity in 2020-2021 is about the same as a .15 stretch factor from a revenue requirement perspective.  And in 2022, it's about the same as a .3 percent stretch factor.

So again, that progressive productivity is a very important distinction between cost of service, between a three-year cost of service, as well as these other elements that I have listed here, like...


MR. LADANYI:  So it is progressive productivity.  I think you had a similar exchange...


MR. VETSIS:  In addition to everything else that has been stated.

MR. LADANYI:  Most definitely.  I think you told the same thing to Mr. Ritchie in the technical conference.  But I don't have it in my transcript.

But can you then turn to page 28 of my compendium, where you have your productivity savings?  And this is from Exhibit A, tab 3, schedule 1, page 21, table 2.  We have seen this before on panel 1 numerous times.

I don't want to go through the numbers at all, and I think these were explored at great length.  But when I see this table, the impression that I get here is if you wanted to game the system, you could actually pad the costs and therefore show greater progressive productivity.

How can the Board be -- let's say be convinced that these are reasonable costs that you have here, that these are not costs that have been padded for you to show, if you like, more progressive productivity.

What confidence can we and the Board itself have that these numbers are legitimate numbers?

[Witness panel confers]

MR. VETSIS:  Mr. Ladanyi, there have been two panels here before.  They have talked about the initiatives.  They have talked about the governance process.  The panel has heard a lot about this.

I think you have heard the culture of productivity that the company has.  I think something that is unique to Hydro One's application in that the OEB should be -- the panel might be find helpful is the fact that there is a mix of two types of productivity in this proposal.

So where the company had initiatives in terms of the operations and corporate lines, those have already been baked into the forecasts.  Where the company already knew it had opportunities, those have already been given back to customers.

What progressive productivity represents is a commitment to continuing to do that going forward.

And I think the fact that you've already seen that there were initiatives defined before the plan was filed and the fact that you have seen since the application has been filed the company has found and defined more initiatives, I think should show to the culture of productivity at the company.

MR. LADANYI:  When I look at this table and listening to the -- participating and listening to panel 1, a saying comes to mind, and maybe you will get mad at me when I quote this, so famous American comedian, George Burns, said the key to success is sincerity.  If you can fake that, you've got it made.

And paraphrasing it, I would say the key to success at the OEB is productivity.  If you can fake productivity, you've got it made.

And I know I am not accusing you of faking it, but that is a thought that one gets here, that it would be very easy for a party to come here and fake productivity by having high costs and then having high productivity savings.  Wouldn't that be right?

MR. STERNBERG:  I am not objecting to the witnesses answering, but as I am hearing these questions, I would note that there is absolutely no evidence in the record at all for the suggestions that Mr. Ladanyi is making.  So there is just no evidence to support what he is saying in this sort of hypothetical question that he keeps putting.  In any event, I am content for the witness to answer.

MR. VETSIS:  Obviously I disagree with your statement. Again, there have been multiple panels talking about the commitment here.  I would note that I think it was mentioned a few times that when it comes -- there is a detailed government process -- governance process.  I think they talked about in prior panels how something being quantified as productivity is not a slam dunk.  Stuff gets turned away.

This isn't a low -- like, there's appropriate governance associated with it, and those other panels spoke to it and can speak more to that.  I think the evidence is here for the panel that clearly a commitment has been made by the company.  These have been given upfront by the utility.

Not much more I can say, other than this is, at least from my perspective, and looking at past applications, I have never seen productivity evidence to the level of detail and commitments to the level of detail as what is happening here.  I think this is a relatively unique element that Hydro One has, and it's something that should be kept in mind by the OEB.

MR. LADANYI:  Fine.  I will leave that.  Let's move to the next item.  Let's turn to page 15 of my compendium.

MR. VETSIS:  Also -- sorry, one last thought.  I would note that we also have external benchmarks from PSE.  So you're seeing there in PSE's external analysis that here is an external party showing very good cost performance and a history of that by the utility.  You're showing a history there of the company outperforming the industry productivity trends.

So again, you're seeing a company walk the walk from an evidence standpoint, and you're seeing empirical data that proves that fact as well.

MR. LADANYI:  So let's turn to page 15.  Oh, thank you for the answer.  In there, could you move the screen further down on the page?  I want to address the equation.

Okay.  So this is your equation, growth and revenue equals inflation, minus productivity, minus the stretch factor, plus capital factor.

And when I look at this equation I would say that the incentive for someone using this equation would be to maximize capital spending.  Wouldn't that be the case?  You get greater revenue if you can spend more capital.  Isn't that what it says?

MR. FENRICK:  It is true that, yeah, the higher the c-factor the higher the revenue will be.

MR. LADANYI:  Okay.  So then let's look at page 16 of the compendium, and there is a description of the capital factor.  And it says capital factor is based on Hydro One's proposed capital needs.  And then there is a further description which I won't read to you.

But it sounds to me very similar to cost of service.  Basically the message is, give us more money because we need more money.  Isn't that what it says?

MR. FENRICK:  That was certainly not my intention in writing that as an external consultant.  I did not evaluate whether the c-factor in the capital spending proposed by the company is necessary.  That is how the realm -- I took the capital spending proposal and benchmarked and see what that would do to the external benchmarks.  It is up to the utility itself and then the Board as far as determining the capital needs of the company.

MR. VETSIS:  I would note that the capital factor's calculated in this proceeding and then locked in over the IR term, which gets to the point where you have decoupled rates from costs, which sounds to me like we're no longer talking cost of service any more.

MR. LADANYI:  You could then spend less and spend more, but you also have capital in-service variance account, don't you?

MR. VETSIS:  That's correct.  It is to protect customers in the event that we under-deliver on our plan.

MR. LADANYI:  So let's turn to page 19, please.

MR. VETSIS:  I would also note that, I mean, again, the c-factor -- these exercises are very important, total cost benchmarking, total productivity, they're one data point for the OEB to look at.  The other is the thousands of pages of information about asset condition, the external studies, the reviews of the process.  There's a lot of information as well that should inform the propriety of the contents of the c-factor.

MR. LADANYI:  So on page 19 is an extract from the handbook of utility rate applications.  If you look at the very bottom it tells you what the document is.  October 13th, 2016, which you actually referred to in your evidence.

But let's go back to the top of the page.  What I want to address is the paragraph that says:

"It is insufficient to simply adopt the stretch factor that the OEB has established for electricity distribution IRM applications.  Given a utility's ability to customize the approach to rate-setting to meet its specific circumstances, the OEB would generally expect the custom index to be higher, and certainly no lower, than the OEB-approved x-factor for Price Cap IR, productivity, and stretch factors that is used for electricity distributors."

How are you meeting this requirement?

MR. VETSIS:  I would first point out that -- like, it is important to look at this in context.  So what this paragraph is talking about is, it is mentioning specifically distribution applications.  And so the context for distribution is very different.  The OEB has undertaken a generic proceeding, has determined a methodology for calculating stretch factors.  Every year the OEB goes through an exercise and assigns stretch factors.

And when I look at this here, I kind of take this to mean that relative to the default factor that the OEB does annually for a distributor, if a distributor is filing custom IR, then your stretch factor should be either at the default or greater, but it cannot be lower.  That's my understanding of the paragraph here.

So in the case of transmission, there is no such generic exercise that happens annually.  We've tried here in our application to use those prior proceedings as guidance, sort of a road map for what we're proposing, but that doesn't happen annually.  So I don't know what a default value would be for transmission.

In terms of this notion of, be the same and certainly no lower, I think from a -- if you are looking at sort of the intent and the substance of the statement, I think the element of our proposal that would meet this is that we have done a total cost benchmarking study.  We have calibrated the stretch factor according to that analysis, and then beyond that we have the element of progressive productivity, which has been added on top.

So I would say from a substance standpoint we're absolutely in line with this paragraph, but again I question the direct validity because of that context and the difference between what is going on for the regulation of distributors versus transmitters.

MR. LADANYI:  Are you using the same return on equity as distributors?

MR. VETSIS:  My understanding is that every regulated entity from the OEB has the same ROE.  So OPG, Enbridge Gas, transmitters, distributors.

MR. LADANYI:  But some have custom IR formulas and some have, I understand, OEB price cap formula; is that right?

MR. VETSIS:  Through our different rate-setting approaches, depending on the sector.

MR. LADANYI:  So there is a -- and this is a regulatory affairs panel, so I have to ask these questions of the regulatory affairs.  How can you justify using the same return on equity if you have a different formula, which obviously must have different risks and incentives attached to it?

MR. VETSIS:  I think you're getting me into the point where we're going to reargue what the OEB has already decided in its cost-of-capital policy.

The OEB conducted a policy review.  It determined that the appropriate approach for ROE is to have a -- use a formulaic value that applies uniformly to all the entities that it regulates.

MR. LADANYI:  In the Toronto Hydro proceeding there was a fair amount of discussion about the reduce in risk that the Toronto Hydro's approach creates and whether Toronto Hydro should in fact be getting the same return on equity.

I would put it to you that intervenors might, in this particular case, argue that your formula protects you from risks and actually has very incentives very little incentives, and you should be getting a lower return on equity.

I am giving you an opportunity to argue differently, but it might all come up on argument.

MR. VETSIS:  I don't know on what empirical basis you could make the statement that there is a difference -- that a different ROE should apply.

My only knowledge of the OEB's consideration of a difference in risk from a ROE perspective is in the case of OPG, where the debt-equity thickness differs from the standard sixty-forty.

And in that case, it was supported by it's due to the risk associated with managing nuclear facilities and was supported by detailed empirical analysis.

It has nothing to do with the fact that -- the revenue framework.  It has nothing to do with the rate design.

MR. LADANYI:  And also, staying still on this page, don't some other utilities have a productivity factor of zero as well, just like you?

MR. VETSIS:  I believe there are a handful of distributors each year that are assigned zero percent stretch factors.

MR. LADANYI:  So let's move to page 20 and there is OEB Staff Interrogatory No. 6, and there's a discussion about stretch factors at the bottom of the page.

And Staff asked you about a stretch factor:
"Provide Hydro One's views with reasons on whether an additional incremental stretch factor would be appropriate."


And then your response is on page 21.  And essentially your response says you're relying on negative productivity and the transmission industry as saying why you don't need a stretch factor.

Is that your answer, your reasons for not having a stretch factor?

MR. VETSIS:  Again, I really want to reiterate because people keep saying this.  We do have a stretch factor.  Zero means something in incentive rate-setting.  Zero means you have a total cost benchmarking performance of less than 25 percent, or better than that.  We're minus 30, whatever it is.

So that value of zero -- I know it is the number zero, but it's a thing, it is a real thing.

Again, the remainder of the response -- and that calibration, that total cost benchmarking analysis is what drives the recommendation of the stretch factor, which is calibrated per the OEB's policies in fourth generation IRM.

Again, I would bring you to -- the remainder of the elements of this response remain valid.  There is an implicit stretch factor to the tune of 1 point -- I guess we're at 1.6 now through the adoption of a zero percent TFP and the X-factor.

And finally, a very popular topic, progressive productivity is in fact an additional stretch.  From a mathematical perspective, the revenue requirement -- the impact at the customer's level in terms of the revenue sought for recovery is the same as an additional stretch.

MR. FENRICK:  I might also add to that.  What is also different from the Hydro One distribution case to Hydro One transmission here is, as Mr. Vetsis talked about, zero percent does have a meaning.

In the Hydro One distribution case, we found our total cost benchmarking showed that the company was above cost expectations at plus 22 percent, and we recommended a stretch factor of .45 percent in that case based on those findings.

So Hydro One Distribution, that's not that great a cost performance, the situation is different here.  For incentive regulation to have meaning, you do have to reward good performance, and that is what the cost benchmarking is indicating as well in this case.

MR. LADANYI:  But from a ratepayers perspective, really it has to do with the fact that ratepayers don't really benefit from zero.  From a ratepayer's perspective, if you say that the distributor has zero productivity improvement from year to year, that's going to sound bad.  Out there, the public would say, what the hell is going on here.

MR. STERNBERG:  We may -- I am mindful of the question.  We may be getting into an area that is more appropriately dealt with through submissions as part of the argument.  If the witness has further factual points to make, but it sounds like we're getting into an argument debate with some of these questions.

MR. FENRICK:  I would just add to that.  Your comment that ratepayers are certainly benefiting from the strong cost performance of the utility.

The fact that they're minus 32 percent below expected cost is a significant benefit to ratepayers.

MR. LADANYI:  Okay.  Since you did mention progressive productivity, and I really don't want to go back there, but progressive productivity is really not based on fact.  Actually, it is sort of undefined productivity that you are going to find somewhere.  That is what I get from the testimony so far in this case.

You're saying we'll find it somehow, but we don't know what it's going to be.

So really there is no actual evidence.  It is based on faith, isn't it, faith that you will find the savings?

MR. VETSIS:  If we focus on the outcome, the ultimate outcome is a reduction to the revenue requirement that is sought from customers.

This is more suited for panels 1 and 2, but from my recollection of the evidence, if the panel goes through the history of he has been on this proceeding, you will see a development from -- you will see an increase in the amount of progressive productivity that has become defined versus what was originally filed.

This has all gone through the governance process that has been described.  And so I would say like that progression should give a bit of an insight to the fact that there are real activities occurring, there is real progress being made in identifying these savings.

MR. LADANYI:  I am going to end -- I am coming to the very end now, and really we're going to go to a different area.  So if you could turn to page 24 of my compendium, this is your response to a CME Interrogatory No. 4.

The interrogatory asked you to confirm whether the capital factor would be applied to Hydro One's working cash amounts. And also, on page 25, there is also a more extensive LPMA Interrogatory No.2.

And I read these two interrogatories and I actually don't understand why the capital factor would be applied to working cash and to working capital.  These seem to be financial instruments that involve no particular capital construction.

Can you explain to me why you are applying the capital factor to working capital and, of course, as a subset to working cash?

MR. VETSIS:  So step one of the response would be just to -- if you take a look at page 26 and 25 of your compendium and provide our response to LPMA 2.

I think the main thing I want to draw your attention to is the top table in that response on page 2.

So ultimately, you see a calculation, you see capital factors coming out of the bottom of this table.  If you if you will accept, subject to check, sir, the values at the bottom that are shown here.  In 2021, it's 4.09 percent for the capital factor.  If you go back to A-4-1 of our evidence in the application, the value is the same.

Similarly, if you look at 2022, the value of the capital factor here is 3.58 versus 3.59 is what was in the original evidence.  So you can see, just from a pure mathematical standpoint, if you remove the working capital allowance from this calculation, it doesn't make a difference, and the main reason is actually outlined a little bit in our response to Energy Probe No. 9.

So I think when it comes to working capital, it is important to note the significant distinction between the transmission and distribution businesses.

In the case of distribution, the distributors are required -- they also perform a settlement function, as well as their standard distribution activities and part of the lags and leads, et cetera, associated with that are a result of the cost of power and settling on behalf of customers.

That function doesn't exist in transmission.  So the working capital amounts would be related to leads and lags associated with running work.

So from a practical perspective, we feel the circumstances are different and, as such, it is appropriate to include the working capital allowance in the calculation.  To the extent that people do not agree, the math shows that the impact is nothing.  It is absolutely immaterial when it comes to the file result.

MR. LADANYI:  You could actually remove it and it would really not affect your results.  Is that what you're saying?

MR. VETSIS:  From an outcomes perspective, that is correct, it will not impact the RCI.

MR. LADANYI:  These are all of my questions.

DR. ELSAYED:  Thank you.  Mr. Harper.
Cross-Examination by Mr. Harper:

MR. HARPER:  Thank you.  My name is Bill Harper.  I'm a consultant for the Vulnerable Energy Consumer Coalition.  I do have a compendium for the panel which we circulated last night.  There are copies available.  I have given copies to the Hydro One panel already.

MR. SIDLOFSKY:  That will be Exhibit K8.5.
EXHIBIT NO. K8.5:  VECC COMPENDIUM FOR PANEL 4.

MR. HARPER:  Thank you.  So we start off with -- can we turn to tab 1, and page 3.  This is really a copy of page 12 from Exhibit 1-I, tab 1, schedule 2 of your application.  If we scroll down to the bottom of the page, here you describe how the transmission costs are allocated to the functional categories.

Now, as I understand it, once you have allocated the gross book value of assets to the functional categories, the accumulated depreciation is allocated using the proportion of gross book value.  Is that correct?

MR. LI:  Yes.

MR. HARPER:  And similarly, the depreciation that is allocated to the various functional categories, that would also be relative to the gross book value, would it not?

MR. LI:  Yes, that's correct.

MR. HARPER:  And I would say the same thing for debt cost as well.  That would be the case?  If I understand, debt costs are allocated relative to net book value, which in your case is directly proportional to gross book value.

So it would all tie back to what is the allocation of your book value to the asset basis for those functional categories?

MR. LI:  Yes, that's correct.

MR. HARPER:  And it would be the same for return on equity, because it is treated and allocated in the same way as debt costs, if I am not mistaken.

MR. LI:  Yes, it is.

MR. HARPER:  So now if we could turn to -- it's tab 2, page 5 in my compendium, to Exhibit I-1, tab 5, schedule 1, page 1 from your application.

And here you set -- in the middle of the page, before we get down to all the adjustments at the bottom half of the table, you set out the allocation to the 2020 revenue requirement to the three rate pools, which are your main functional categories, correct?

MR. LI:  Yes.

MR. HARPER:  And would I be correct based on the conversation we have just had that the allocation of the revenue requirement to the rate pools as shown here would closely mirror the relative net book value for each of those rate pools?

MR. LI:  Yes.

MR. HARPER:  We have just gone through the fact that for most of these cost elements, you know, they're all related to the proportion of the assets assigned to each pool.  So in total it would seem to me the total revenue requirement would generally follow --


MR. LI:  It should be pretty close, yes.

MR. HARPER:  Okay, fine.

MR. LI:  Yes.

MR. HARPER:  Now, could we turn to tab 3 in my compendium, which I believe is page 8, which is a copy of VECC Interrogatory 46.  And here in part A you indicate the wholesale metering assets represent -- I have to watch my zeros here -- represent .002 percent of the total transformation and connection asset of a rate pool.

MR. LI:  You know, I -- once I received this last night, I actually did a quick calculation of this.  I noticed an error in our calculation.

MR. HARPER:  Okay.

MR. LI:  Thank you, Bill.  Just give me a second.  I am just going to turn to the page.  Okay.  In our original response we set .002 percent.

MR. HARPER:  Right.

MR. LI:  The correct number should be 0.01 percent.  So what happened is we just used the -- in the Excel there was a -- this is just an error there.  We point to the wrong cell.

MR. HARPER:  That's fine, because when I looked at this and then I looked at the percentage of revenues relative to the cost I received an order of magnitude of a difference of order of ten, you know, the revenues were .02 percent of total costs, whereas the simple math would have suggested they probably should have been more in the order of .002 percent, and that is where I was going from.  But I think your correction there has explained that the numbers are much closer together than what the original interrogatory indicated, so thank you.

MR. LI:  Yes.

MR. HARPER:  Maybe if we could turn to tab 4.  And this is page 10 of the compendium.  And here, can you confirm for me that when I read the paragraph at the bottom of the page that the number of metering installations which Hydro One receives that provides meter service provider services is decreasing over time?  It's been decreasing since -- it's been same every year or decreasing every time since 2002.  That's what I read out of the that.

MR. LI:  It has been decreasing, yes.

MR. HARPER:  And could you also confirm that the annual fee for the wholesale meter service has been unchanged at your $7,900 per meter point since at least 2017?

MR. LI:  Yes, absolutely.

MR. HARPER:  Thank you.  So if we could go to your response to the technical conference undertaking JT2.34, question 9, part B.  And that I have included in tab 5 here at page 12 of my compendium.

This was just a small point that caught me, and I was wondering if something else was going on.  Here you indicate that from 2017 to 2018 the MSP revenue actually went up by 25 percent, and I was trying to figure out how that could be the case if the rates were unchanged and the number of points involved were the same or decreasing over time.  They have gone up from 0.4 million to 0.5 million, which is roughly a 25 percent increase.

MR. LI:  Yes.  It is a... There is a $100,000 -- or rounded -- I don't know how much exactly, but roughly let's say about a 100,000-dollar difference there.

Actually, I have to look into it.  I don't know.  I appreciate your point, and I have to look into that.

MR. HARPER:  I know it is a small amount, but I was wondering whether there was something else going on or it was some other revenues being captured that we should be acknowledging the process or what it was, so if it wouldn't be too much effort I would appreciate it if you could do that.

MR. LI:  Yes, I will look into it.

MR. HARPER:  Thank you.

MR. SIDLOFSKY:  Sorry, that will be Undertaking J8.2.
UNDERTAKING NO. J8.2:  TO CONFIRM MSP REVENUE INCREASE AS DESCRIBED IN UNDERTAKING NO. JT2.34, QUESTION 9, PART B, VECC COMPENDIUM PAGE 12


MR. HARPER:  So I would like to turn now to your approach to developing the load forecast for the transmission charge determinants.

And I got a number of references here, but I will go through, and if we need to go to the references we can, but generally I think hopefully we won't have to flip through all the pages.

Now, as I understand it, you use a number of different models, both econometric and end use, to establish forecast -- energy growth rates over the test period.

That's sort of your first step in your load forecasting process.  Am I correct?

DR. ALAGHEBAND:  That is correct.

MR. HARPER:  And then what you do is in those models
-- and for those models you have the impact of CDM and embedded generation.  It's been added back to historical levels, so effectively you're forecasting growth rates, assuming no CDM and assuming no embedded generation.

DR. ALAGHEBAND:  In worst cases, yes.  For econometric -- annual econometric model, because this is for Ontario customers at their consumption level, we don't add embedded generation.  This is just another source of generation.

MR. HARPER:  Okay.  But for the other, I think there's three --


DR. ALAGHEBAND:  For others we do, yes.

MR. HARPER:  Okay, fine.  Now, as I understand it, you then apply these growth rates to the actual Ontario demand, excluding this impact of CDM and embedded generation for base year.  In the case of this application the base year you used was actuals for 2017?

DR. ALAGHEBAND:  Yes.

MR. HARPER:  And then basically you apply the growth rates, you forecast, and then you subtract off your forecasted CDM and your forecasted embedded generation to come up with your forecast demand numbers for the test years.

DR. ALAGHEBAND:  That is correct.

MR. HARPER:  Okay.  And can you remind me what years of historical data were used in developing the various models?

DR. ALAGHEBAND:  For annual econometric model it was the last year available from Statistics Canada was 2016. For monthly econometric model it was -- we had data up to October 2018.

And that's about it, you know.  What else we had?  That's correct, yes.

MR. HARPER:  Okay, fine.  Now, we talked earlier about how you added back the historic CDM when you were developing some of these models.

DR. ALAGHEBAND:  Yes.

MR. HARPER:  Can you confirm that the historic CDM energy savings that were added back in to the actual energy use used in your models was based on the historic CDM values from the IESO's 2016 OPO?

DR. ALAGHEBAND:  That is correct.

MR. HARPER:  Okay.  You can also confirm that the 2016 and 2017 CDM values that were used in the 2016 OPO were not actual savings achieved in those years, but were rather forecast estimates that the IESO had prepared at the time?

DR. ALAGHEBAND:  That is correct, yes.

MR. HARPER:  Okay.  Now, could we turn to tab 11 in my compendium, which I think is -- which is the copy of VECC 24 from the interrogatories.  I would like to go to page 5.

Just a couple of points here.  On page 5, you have referenced number five is to the IESO's provincial wide verified CDM results.

And you have a website cited there.  Correct?

DR. ALAGHEBAND:  That's correct.

MR. HARPER:  Now, actually I clicked on that website for the last three days in a row and every time, I get an error.  So what I would appreciate if you could just undertake to file for the record a copy of that document, so we would actually have a physical copy on the record.

Is that something that you can undertake to do for me?

DR. ALAGHEBAND:  So just to be clear, this is item number 5?

MR. HARPER:  Right.

DR. ALAGHEBAND: IESO provincial wide, okay.  Well, we will try.  This is the link that we had and perhaps the link was updated.

MR. HARPER:  Well --


DR. ALAGHEBAND:  We have to establish it, yes.

MR. HARPER:  Like I said, probably the easiest way to do is if you, in terms of preparing the evidence, downloaded a physical copy of that.  And if you could just file that with the Board as an undertaking, that would simplify the process because, unfortunately, it is an IESO link.  It is not your link or my link.

DR. ALAGHEBAND:  That can be done.

MR. ANDRE:  Yes, we can undertake to do that.

MR. SIDLOFSKY:  That will be undertaking J8.3.
UNDERTAKING NO. J8.3:  WITH REFERENCE TO VECC COMPENDIUM, TAB 11, PAGE 5, TO PROVIDE A LINK TO THE IESO'S PROVINCE-WIDE VERIFIED CDM RESULTS, OR TO FILE THE DOCUMENT


MR. HARPER:  Can you remind me -- this was a report on 2017 results.  Do you know roughly when that report was produced?

My understanding is that these reports are typically produced somewhere in the middle of the following year.  So I would expect they were produced somewhere around June, July or August of 2018.

Would that align with your understanding of when these things are produced and made available?

DR. ALAGHEBAND:  I have to -- I have to find out that.  I don't recall.

MR. HARPER:  The reason I was asking is I wanted to follow up on the conversation we had earlier that when you were developing your historical models for 2016 and 2017 CDM results, you used estimates from the 2016 OPO from the IESO.

I was wondering why, if this report was available to you and you had actual results reported for 2016 and 2017, you didn't use those actual results as opposed to the earlier estimates from the IESO, in terms of developing your models.

[Witness panel confers]

DR. ALAGHEBAND:  The reason that we used the OPO results for energy models was that it was consistent over all years, and it had all of the categories that we wanted.

So for example, you could work out what is the category for residential, for commercial, for industrial, and so on.

This report, the number 5 report, didn't actually have all of those resolutions.

MR. HARPER:  Okay.  Because I wasn't -- again, maybe that was part of my problem in terms of not having access to report, because typically I thought those IESO reports did include reports for residential programs, you know, for the different types of programs, and also broke it down between demand response and energy efficiency.

But this is something that I guess once you've made the report available to us, I can look at it and confirm whether that is the case.

DR. ALAGHEBAND:  That's okay.

MR. HARPER:  Okay, fine, thank you very much.  I would like to then turn to tab 12 in my compendium, which is the response to VECC 34.

And on page 2, you have a table there and I was wondering whether the reference you make in very first row is to that same report we were just talking about, or whether this was a reference to a ditch report.

DR. ALAGHEBAND:  The first one is the forecast document.

MR. HARPER:  No.  If I look at page -- it is Exhibit I, tab 10, schedule 34, page 2.  There is a table there with a number of years and a number of rows.  And on row 1, the far right-hand side, you have a note, and the source is the 2017 final verified annual LDC CDM program results.

DR. ALAGHEBAND:  Yes, that's correct.

MR. HARPER:  I was wondering if that is exactly the same reference we have just been talking about, item 5 from that VECC 24 IR, or whether it is a different report.

DR. ALAGHEBAND:  It should be the same.

MR. HARPER:  Okay, fine.  The title was slightly different, and when I clicked on that I couldn't get anything.  So I wanted to make sure.  Thank you very much.

Can we now turn to tab 13 in my compendium, at page 4?  Here you indicate that the demand that is supplied by a generator unit or a storage facility through a transmission delivery point that attracts either line connection service is being -- is added to the billing demand if greater than 1 megawatt and approved after October 30th, 1998.

On page 5, you have a similar proposal for the transmission connection billing determinant.  Is that correct?

DR. ALAGHEBAND:  Yes.

MR. HARPER:  Now, I understand your rationale for the treatment of generators sort of follows along the line of how generators have been treated since we first set transmission rates.

But I was wondering if you could explain for me a little bit about why you are proposing to apply the same proposal to energy storage facilities.

It struck me particularly in light of the process we just went through in the past month, talking about DER and the other sort of consultations that the Board is having, why you are proposing to apply that to energy storage facilities as well as generators.

If you can give me a brief explanation for that, that would be great for me, thanks.

MR. LI:  In terms of behind the customer energy storage and a generator, there is no difference.  So that's why -- that's why it should be - well, okay, sorry.

In the original definition, that was set quite a while ago and obviously, energy storage did not -- was not really there.

Right now, we introduced that wording in the definition.  It is basically to just reflect the change in the I had, now that energy storage exists.

But in terms of how it impacts the demand, there is no difference.  What is behind the customer, is it a generator or is it energy storage, it does the same thing.  So that is why it is fair to include energy storage in the wording.

MR. HARPER:  Okay.  Well, I will take that as your explanation.  That's fine, thanks.

I would like to turn now to VECC compendium tab 14.  This is something that I believe Mr. Vellone, counsel for APPrO, was talking with you about yesterday.

But to start off, what I have extracted on the first page here is one of the tabs from the your updated Elenchus export service cost allocation study that you filed in response to APPrO IR number 1.  It's the demand data tab from that report.

And here, if I look at the demand data, you've got a 12CP value of 25,336.

MR. LI:  Yes, I see it.

MR. HARPER:  No, excuse me, 20...


MR. LI:  25,336, right.

MR. HARPER: Right. And you've got the export volumes you were discussing with Mr. Vellone yesterday of 18-million-800,000.  Correct?

MR. LI:  Yes, that's correct.

MR. HARPER:  And now in the technical conference, APPrO asked you to redo the cost allocation using your forecast 2020 export volume of 19,403 gigawatt hours.

And I believe you filed a response to that in JT1.36, question 1, part C.

MR. LI:  Yes.

MR. HARPER:  If you turn the page, I have extracted from that model -- you provided the whole model, the same tab there.  If I look first at the upper part, I see the volume.  I see we have 19,403,359 gigawatt hours, which is the updated volume.

But if I go down to the 12 CP value, it is exactly the same as what you used when you had the lower volume.  And I was wondering if whether, when you updated the volumes here, you shouldn't have also updated and revised the 12 CP value accordingly.

[Witness panel confers]

MR. LI:  If you look at the number, 19,403 --


MR. HARPER:  Yes.

MR. LI:  -- 359, that is the, I guess, the best term to describe that, that would be the charge determinant, right?  And that is not used to do allocations.

Now, the one -- the one at the bottom -- the CP 12 is the one, is the allocator.  Now, in terms of CP 12, we are not -- we do not have the data to update this allocator, because that is based on 2018 actual hourly data from the IESO.

We do not have a forecast of hourly data for -- yeah, because if we go to 1920 we simply do not have that data.  So in terms of allocation, we have to use historical data.

MR. HARPER:  So --


MR. ANDRE:  Sorry, Mr. Harper, if I could just add.  So the 1940, even though it appears in the model, that megawatt-hour number, it actually isn't used in any of the cost allocation.  And as I explained to Mr. Vellone yesterday, the 19, you know, in response to his interrogatory response or undertaking response, we updated 19,4 as the charge determinant, as Mr. Li said, to calculate an updated rate, but it didn't actually have any influence on the allocated cost, because the allocated costs are based on the hourly 2018 data for which we have, you know, peaks due to exports and peaks due to domestic.

MR. HARPER:  So that there's a bit of an apples and oranges here, and I think what is what you were having a discussion with yesterday in terms of sort of --


MR. ANDRE:  Yes, that's correct, and that's what I was trying to explain yesterday.

MR. HARPER:  Okay.  I guess the other thing is that -- and this just struck me, this is an issue that I think at least some of the people on this panel are involved in the Hydro One distribution case as well and is probably familiar with.  Distribution utilities frequently face this problem, that they have volume forecasts but they don't have sort of 12 CP, 1 CP forecasts for their test years.

In those cases am I correct that they pro-rate historical load profiles in order to develop their -- in order to come up with a representative load profile for the test year?

MR. ANDRE:  That may be the case for distribution, but, I mean, exports are so variable from year to year as the historical data has shown.  I don't know that there is a reasonable or an appropriate approach to try to forecast the peaks.

It can happen, you know, across -- they can happen at night.  They can happen during the day.  So there isn't a consistency to their pattern, as we would have with, you know, residential and commercial customers, where we can extrapolate that going forward.

MR. HARPER:  So just to be clear, your response to J1.36 is not a revised cost allocation study based on 19,403,359 gigawatt hours?

MR. ANDRE:  That's correct.  It is a recalculation of the rate based on assuming that volume in 2020.

MR. HARPER:  Fine.  Thank you very much.

And actually, sort of staying on the same theme, because I think you were discussing with Mr. Vellone yesterday, you know, the fact that you used -- you had a forecast for 2020 and you believed your best estimate was 18,800,000 gigawatt hours versus the number you used in determining the export revenue offset, which was the 19,400,000 gigawatt hours.

Now, am I correct that the 18,800, that is based on your actual export volumes reported as we just said for 2018.  Correct?

MR. LI:  That's correct.

MR. HARPER:  Okay.  Now, are you aware the IESO publishes -- actually publishes daily intertie activity with respect to exports on its website?

MR. LI:  Daily?

MR. HARPER:  Like, if you go on their website every day you can find not only the export activity for the previous day, but a total for every hour for every day for the year up to and including the 24th hour of now October 31st, 2019.

Were you aware that sort of information is available on their website?

MR. LI:  To be honest, I am not aware of it.

MR. HARPER:  So you wouldn't know whether to date 2019 is -- 2019 actuals to date are ahead of actuals to date for 2018 or whether they're higher or lower.  You wouldn't have any knowledge of that at all?

MR. ANDRE:  In terms of volumes, in the response to JT -- Undertaking JT2.34, question 17, we did report that as of June we compared.  So if we can turn to that, you can see that as of June there is a comparison there between the volumes in 2018 for the January to June period and the volumes for 2019 for the January to June period.

But, yes, so we don't have it in terms of October numbers.

MR. HARPER:  Would you be willing to update it to the end of October?

MR. LI:  I am not sure how much the lag is.  I am not sure it is daily, because I believe there is a lag, but I could be wrong.

MR. ANDRE:  So Mr. Harper, this data, in terms of these volumes, tied to the volumes that the IESO tells us in terms of their settlement, like when they pay exports, so we could certainly update that for the latest available.  It may not be October, but we can go to our finance
group --


MR. HARPER:  I realize I am not here to give evidence, but last night I summed the totals up to the end of October 30th, 2018 and end of October 30th, 2019, and looked at the two, and so I was hoping that you could maybe do something different or come as close as you feel comfortable being able to do that would be great.

MR. ANDRE:  As I say, I think we can provide the latest information consistent with how these numbers were reported, which, as I say, I think is from our finance group.  So we may have to the end of September.

MR. HARPER:  Okay, fine, thanks.

MR. SIDLOFSKY:  That will be J8.5.
UNDERTAKING NO. J8.4:  TO UPDATE UNDERTAKING NO. JT2.34, QUESTION 17 TO THE END OF OCTOBER

MR. HARPER:  Actually, I have one more question, then I was going to shift back to the questions I had for panel 2.  I noticed the time.  Perhaps if I ask this one last question and if you wanted to break for lunch then that would be a convenient time for me.  Probably for yourselves as well.  Would that would be okay?

DR. ELSAYED:  Good idea, yes.

MR. HARPER:  Okay.  The last question is fairly short as well, and I wanted to go back to another conversation you had with Mr. Vellone yesterday starting at page 184 of the transcript.

And he was asking you there whether -- and the question was specifically are there any other classes, and I think he meant cases, in this rate application where you are using 2018 volumes to establish cost allocation, allocators, or is it only happening for exports?

Your response was, no, the main cost allocation to the network line connection transformation connection pools, you use forward-looking, use forecast data, because that is available.

Given that, I would like you to turn -- and I don't have it, unfortunately, because this just -- in my reading last night -- I would like you turn to Exhibit I-1, tab 1, schedule 2, page 2.  And maybe if you could just pull that up separately.  I apologize.  This came up -- came to my attention about eleven o'clock last night.

MR. ANDRE:  Mr. Harper, could you repeat the reference?

MR. HARPER:  Exhibit I-1, tab 1, schedule 2, page 2.

Now, if I look at roughly line 9, starting about line 9 here.  Here you say:

"The assignment of functional categories is based on normal system operating conditions of assets in-service as at the end of 2017."

And so I would like you -- would you agree that this is an instance where your cost allocation is using historic data -- i.e., information from 2017 -- to allocate forecast costs for 2020?

MR. LI:  With some modification.  Can I take you -- just give me one second here.

[Witness panel confers]

MR. LI:  I would like to take you to VECC IR number 47.  It will be Exhibit I, tab 10, schedule 47.

MR. HARPER:  Yes, that was the last note on my page as well, actually.  So if you want --


MR. LI:  That was explained there, basically.  So in terms of cost of allocation, yes, when it comes to the fixed assets database, we go to 2017 year-end, we look at the asset and then we do the allocation there.

But that is not where it ends.  And when it comes to 2020, we make further adjustments as described in the IR response for 47.

MR. HARPER:  Right.  And if I understand that response to 47, and this is why I asked the question is that the response to 47 deals only with those assets that are being placed in-service subsequent to the end of 2017.

That's new assets.  And for new assets, I understand this response to say that's based on the future anticipated functional use in 2020.

But for existing assets, which will be the bulk of them, those that existed as of the end of 2017 and for which you have forecast costs in your revenue requirement for 2020, you're using the operating conditions as of the end of 2017.  Is that not correct?

MR. LI:  That's correct, yes.

MR. HARPER:  Fine.  Thank you.  Those are all of my questions on this particular topic.

DR. ELSAYED:  Okay.  Thank you.  We will break for lunch and we will be back at 2 o'clock.
--- Luncheon recess taken at 1:00 p.m.
--- Upon resuming at 2:02 p.m.

DR. ELSAYED:  Please be seated.  Okay.  Mr. Sidlofsky, I think you have a preliminary?

Preliminary Matters:


MR. SIDLOFSKY:  Thank you, Dr. Elsayed.  Just one housekeeping matter.  There was an undertaking numbered as J8.5.  That should actually be J8.4.  So we are up to four undertakings today.

DR. ELSAYED:  So we will have to do some more, I guess.

[Laughter]

MR. SIDLOFSKY:  I think we're a little short for today; that's right.

MR. STERNBERG:  We haven't hit the quota yet.

[Laughter]

DR. ELSAYED:  That's right.  Mr. Harper, back to you.
Continued Cross-Examination by Mr. Harper:


MR. HARPER:  Thank you very much.  I would like to change topics now, and I would like to return to look at the LDC CDM and demand response variance account.  This was a topic that was punted to you from panel 2 last week.

And actually, the references in my cross were provided in the compendium we handed out last week, which is Exhibit K4.6.

So -- and just to start off, would I be correct to say that the current variance account exists as a result of the Board's decision in EB-2016-0160 that the LDC CDM and demand response account established under the settlement agreement in EB-2012-0031 not be closed but rather be continued for 2017 and 2018?

MR. ANDRE:  Yes.  The variance account was established as part of the settlement agreement in that 2012 case.  And the continuation of that account was included in the decision in the 2016 case.

MR. HARPER:  So if we could turn to tab 1 in my VECC panel 2 compendium, which was at Exhibit K4.6.  If we go to tab 1, and what we have here is an extract from the settlement agreement, and if we go to page 9, which is a couple of pages in on the tab, if you go to the bottom of page 9, can we agree that what it essentially says here is that this account was established to capture the difference between the forecast and the actual CDM savings forecast for the test years between the forecast and the actual savings for the test years, due to OPA funded LDC delivered CDM programs?

MR. ANDRE:  I agree that the third paragraph makes it specific to that.  I would note that in the two paragraphs above that, Mr. Harper, you know, the leadup to the description of the account talks about how the impacts of CDM and demand response, the concerns with respect to how CDM is reflected in the load forecast, you see that in the first sentence of the second paragraph, and then in the third paragraph it says:

"There remains some concern on the part of certain intervenors about the accuracy and reliability of the CDM and demand response forecast prepared by the OPA."

So I think the concern was around CDM in general, but then the third paragraph makes it specific, you know, to the LDC delivered programs, because our understanding at the time and the reality at the time was that the OPA was providing verified data only around the LDC delivered program.

So that is something that could be tracked against.

MR. HARPER:  But you agree with me that that was the scope of the account that was set out in the settlement agreement?

MR. ANDRE:  Yes.  What we agreed to track in that settlement agreement was the -- was the amounts associated with the LDC programs that were being verified for.  Just give me a sec.  Yes.

MR. HARPER:  Okay.  and if we go to the top of the next page, I think in addition to that, I think the account was -- what was also captured was the differences between the forecast and the actual impacts of any additional demand response programs that were not reflected in those LDC savings.

Would you agree that that is sort of in essence what that top paragraph is saying there?

MR. ANDRE:  Yes.  The inclusion of demand response programs.

MR. HARPER:  Right.  And it was this settlement agreement that was approved by the Board decision EB-2016-0160?

MR. ANDRE:  Yes, that's correct.

MR. HARPER:  And can we then agree that that is the purpose of the current variance account?

MR. ANDRE:  Well, as I say, I think the purpose of the variance account is to track, you know, CDM -- as I say, the concern was around CDM.  What was being specifically tracked as part of the 2013/'14 was the OPA funded LDC delivered programs, and that is the account that the OEB said should not be closed.

MR. HARPER:  Right.  Okay, fine.

Now, can we turn to -- actually, it is tab 3 in the VECC compendium.  And this is an extract from Exhibit H, tab 1, schedule 2, attachment 11, and it is -- and I would like to turn to page 4 of that.

Here on page 4 we see the 20 -- we see basically the summary of the amounts of the megawatts that you are proposing to then use to calculate the dollars for the account.

We have the 2017 energy efficiency savings variance used in the current calculation every month, and the total there, if you go to the far right, is 1,525 megawatts.  Am I correct?

MR. ANDRE:  For the EE component, yes.

MR. HARPER:  Yes, I am just focusing on the EE component right now; that's right.

MR. ANDRE:  Hmm-hmm.

MR. HARPER:  So I would like to turn now to -- it is Exhibit I, tab 10, schedule 45, which is interrogatory from VECC number 45.  That's in the compendium at tab 4, where we see -- and what we have here is the detailed calculation of these variables.

If you go to page 1 of attachment 1, really what we have here is the detailed calculation, and you can see that by virtue of the fact the differences here for EE are exactly the same as the differences in the previous Exhibit H page we were referring to; is that correct?

MR. ANDRE:  Yes, that's correct.

MR. HARPER:  So I would like start first with the load forecast assumptions that you have here, and that is really columns A and B at the table.

If we look at the derivation of the peak loads at the end-use level for 2016 and 2017, we see numbers, and I think they're the ones that are highlighted here of basically 2,000, 38 -- 958 (sic) kilowatts and for 2017, 19, 19, 1,976,289 kilowatts.  Correct?

MR. ANDRE:  Correct.

MR. HARPER:  And if we look at the top tables at the top, we can see basically this shows the derivation of those numbers.  And would you agree that in the derivation of those numbers it includes not only the savings from CDM programs funded by the OPA for LDCs, but includes the impacts of codes and standards?

MR. ANDRE:  Yes, I agree, and it does include both, because in the file that we got from the IESO, as it turns out they were able to provide actual savings for both components for '16 and '17.

MR. HARPER:  And it also not only propose the standards, but it also includes savings for transmission connected customers, as well as savings flowing up from LDC programs, correct?  And I think you can see that in the second table and in the bottom table, the top three tables, you can see that in the second and bottom tables.  It includes -- there's a line there including transmission connected customers as well as LDCs.

MR. ANDRE:  Yes, that has been included in our numbers.

MR. HARPER:  Okay.  And as we've talked about before, the inclusion of either of those is something that was not contemplated in the original settlement agreement from the 2012 case, correct?

MR. ANDRE:  I'm not sure that I would say it wasn't contemplated.  What was agreed to be tracked, I took you to those first two paragraphs, where the concern was around the total CDM that is included in Hydro One's load forecast, which includes these two items, and then the fact that at the time all that could be provided by the OPA was around the LDC delivered programs.  That's why it was constrained to just that.

MR. HARPER:  But maybe the word I should have used was contemplated, was approved, because that is probably the more important word to talk about, whether it was approved at the time of the settlement agreement.

MR. ANDRE:  Yes.  The settlement agreement approved that.

MR. HARPER:  You're not aware of any Board decision that altered the definition or the scope of what should go into that variance account?

MR. ANDRE:  No, I'm not.

MR. HARPER:  Thank you.  I would like to turn to the actual values that are set out in this same thing, and that is in columns D and E of this.

You will take note here the actual peak values reported here are for August, and for 2016 we have 2000 -- I'm going to round -- 2,512 megawatts and for 2017 two thousand five hundred and nine ninety eight (sic) megawatts.  Am I correct?

MR. ANDRE:  Yes, that's correct.

MR. HARPER:  And these values as well also include savings from codes and standards.  Correct?

MR. ANDRE:  Yes, they do.

MR. HARPER:  Okay.  Now, could we turn to VECC -- there was attachment to VECC 24D, which was eventually was refiled in response to an undertaking in the technical conference as JT2.34, question 2.

And what I have done is I have copied the relative portion in my compendium at tab 6.

This is basically an extract.  Now, the attachment you provided, it's my understanding, was the attachment you used to come up with the actual savings for 2016 and 2017.  Is that correct?

DR. ALAGHEBAND:  Yes, the actual savings were derived from that file.

MR. HARPER:  Okay, thank you.  I have only extracted certain lines here, because the file went on for over 800 lines and I didn't want to have to go through pages of this.

But it appears when I look at this that -- again here if you look at this, it appears there are savings here from codes and standards included in that file, if I am not mistaken.

DR. ALAGHEBAND:  That is correct.

MR. HARPER:  There were savings here from transmission connected customers?

DR. ALAGHEBAND:  It's all the CDM.

MR. HARPER:  What struck me as interesting is there are also savings that were generated, and if I look towards the bottom of that page, savings and electricity attributed to CDM programs by Enbridge, by Union Gas, and by Natural Resources Canada as well.  And they as well have included in your calculation of the actual savings for 2017.  Is that correct?

DR. ALAGHEBAND:  Whatever is related to electricity was included.

MR. HARPER:  That would include a program -- the programs listed by Enbridge, Union Gas and Natural Resources Canada as well?

DR. ALAGHEBAND:  There is, at the top of the column on that table, you can actually select what is included.  So there is an EE that is selected from that one.

MR. HARPER:  Right.

DR. ALAGHEBAND:  If you select EE and under, and in column C, you select all, that will give you the total EE amount.

MR. HARPER:  Okay.  And that is the amount that you used?

DR. ALAGHEBAND:  That is the amount I have used.  And now if you go to -- if you keep there column I, at E, then in column C you select only code and standards.  So code and standards in this file by IESO was considered to be part of EE.

If you select that, you get the code and standards component.

MR. HARPER:  For your variance account calculation, you included all codes and standards --


DR. ALAGHEBAND:  That is correct.

MR. HARPER:  -- in your calculation.

DR. ALAGHEBAND:  Yes.

MR. HARPER:  What I haven't shown here is the file also actually had savings attributed to time of use rates.  Did you exclude them from your calculation, or did you include them as well?

DR. ALAGHEBAND:  It is was EE, you have it included.

MR. HARPER:  Fine, thank you very much.  Now, I would like to go back just very quickly to VECC compendium number 4, and look at the at that table I was talking to earlier, which is Exhibit I.

DR. ELSAYED:  It is on, yes.

MS. ANDERSON:  It's on?  You can hear me? Sorry, I wasn't quite clear of the answer to the last question, which was did you exclude them from your calculation.  I think you were talking about the RPP I, and I didn't quite catch the answer.

DR. ALAGHEBAND:  The answer is we didn't exclude anything.  Whatever was on the EE column, we summed it up.

MS. ANDERSON:  The answer on the transcript was EE and I didn't quite get the meaning of that.

DR. ALAGHEBAND:  No problem.

MR. HARPER:  Back to my compendium, tab 4 of my compendium, which was Exhibit I, tab 10, VECC 45.  attachment one, page 1.

In your calculation, you go through a lot of calculations here comparing 2016 forecast to 2017 forecast, 2016 actuals to 2017 actuals.

And what I wanted to try to get you to explain to me is why, when at the end of the day what we're trying to capture the impact of the difference between the forecast CDM for 2017 and the actual CDM for 2017, the calculation just doesn't compare the results of columns E and B.

B has the forecast, E has the actuals. Why not just compare those two columns as opposed to bringing 2016 and at all into the calculation?

DR. ALAGHEBAND:  Could you please go to the main forecast document?  It's E-3-1, page 10.

So to do that, Exhibit E-3-1, page 10.

So in that thing, you can see that we are, for the actual, once we get, say, the 2018 actual, we add the amount of CDM, total CDM.  This includes code and standards also.

We add all of the categories of CDM to point B to get to point C.  And from there, we go to point D, based on energy growth rates.  And then we come down to point E by deducting the future CDM.

Now, to have an evaluation on own how much CDM assumptions affected the situation, I want to point out that when we go from point B to C, that was all assumption.  It was not based on latest information which was not available.  I mean, 2018 is not even evaluated.

Whereas when we calculate the CDM account, so suppose -- suppose the actual is a bit higher.  So we should have gone from B to a point much above point C.

But that is just a base year.  So we go to the forecast and in that case, point D would also be higher than it should be.  But then we deduct a higher amount.  We deduct a bigger amount, and we end up having the same point that we have for the net forecast, which is the base for calculating the revenue.

So the point here is not sensitive to assumptions that we make on a cumulative basis.  That what happens at point B, how much we add.

So to have a fair comparison, what matters is how much incremental we had.  So incremental going from 18 to -- I mean, in this case, suppose we go back to the history.  So if we had in 2016 going to 2017, we would have had -- the supposed incremental it is 300.

And then we compared -- that is the only thing that matters.  It doesn't matter how much cumulative we had at 2016.  It is how much we add after 2016 to get to the .17.  That incremental matters.

So the point is now we have the actual results for both 2016 and 2017.  So we have to see how much actually we went from 2016 to 2017, how much the actual incremental was.  We compare the two incrementals.  So we take the difference of this difference and that is all it matters in terms of you know, accuracy of the forecast.

MR. HARPER:  I'm sorry, I will have to go back and read the transcript to sort of digest all of that.

But just to be clear, if I look at this table here in attachment 1, which I referred you to you in tab 4, the forecast assumption that you have there of the 20,039 megawatts in 2016 and the 19,976 megawatts in 2017, those are megawatts, those are both megawatts incremental to some particular year, are they?

Or are they the tow it will CDM savings all the way back to 2016?  Maybe when I am reading the transcript, it will help me understand what the base of these numbers is what I'm gleaning from your explanation.

So those two values, they're values based on using what base?

DR. ALAGHEBAND:  So 2016 and 2017 values are the total CDM that we used in the forecast.

MR. HARPER:  Right.  That's total CDM from the beginning of time?  Because I think you went all the way back to 2006 when you're doing your forecast.  Or is that total CDM incremental from a particular point in time, like -- I don't know, like 2015 or something.

DR. ALAGHEBAND:  That is the total accumulative starting from 2006.

MR. HARPER:  So again, and then if I go over to the savings side on D and E, the 25,512 and the 25 -- excuse me, 2,598.  I apologize.  Small print and my eyes these days.

Are those numbers -- those numbers are actual savings relative to the same 2006 base?

DR. ALAGHEBAND:  That is correct.  Actually, the name of file says from 2006 to 2017.

MR. HARPER:  So they both are the same base, then.  So I am still struggling with why the difference -- why you wouldn't simply say to us we assumed in the forecast that the savings from 2006 to the forecast year 2017 were 1,976 megawatts.  The actual was 2,598 megawatts.  Let's just compare the two of them.  I am still struggling with why we have to go through all of this rigmarole, to be quite honest with you.  Why isn't it just to compare those two simple numbers?

DR. ALAGHEBAND:  Actually, just on the direct comparison, the CDM variance account goes up substantially.

MR. HARPER:  No, I --


DR. ALAGHEBAND:  That's not a fair calculation.  We came to that conclusion.

MR. HARPER:  Okay.

DR. ALAGHEBAND:  We said that, okay, let's see what's the forecast, what's the forecast process.  What we had, what is cumulative up to, say, 2016 actually doesn't matter. It could have been higher, it could have been lower.  The only thing that matters going from '16 to '17 was the incremental CDM.

So if that is the only thing that affects our forecast, that's the only thing that should be considered in our variance account.

So we compared that incremental to the incremental of going from '16 to '17 on the actual basis.  Now, you can imagine we could have just go by the letter of whatever agreement, we could have just deducted the actual -- from actual what we assumed.  That would have been very substantial amount.

MR. HARPER:  No, I understand that.  I am just trying to understand the logic of it.

MR. ANDRE:  And, Mr. Harper, so, you know, I think Mr. Alagheband has explained how it is the incremental -- because of the forecast methodology that we've used and that's been approved by the Board in the past it is the incremental CDM that matters.

But I would also point out that this account existed in 2013 and '14.  I think at that point for 2013 and '14 it was a 54 -- $52 million credit to customers and the calculation of the EE impacts in 2013 and '14 were done exactly in this manner.

MR. HARPER:  Okay.  I would like now to flip over and look at the demand response portion of the account.  And would you agree with me that the intent of the account is to track the impact of the difference between the demand response, again including the load forecast for 2017 versus the actual demand response impacts that -- that happened in 2017?

DR. ALAGHEBAND:  That is correct, because for the forecast period we assumed that the demand response would not change.  So the incremental CDM -- or incremental demand response was zero.  So we are applying the same method.

Now we look at actual incremental demand response.  So we compare the actual incremental to actual -- to what we assumed was zero.  So that is how it is calculated.

MR. HARPER:  Okay.

MR. ANDRE:  And again, Mr. Harper, that approach and demand response is the same as was used in the 2013/'14 calculation that was approved by the Board.

MR. HARPER:  So am I correct that in the forecast then you just basically assumed whatever was the actual for 2015 would continue on -- that same actual number would be -- that's what you used it to forecast implicitly for 2016 and '17 was the actual number for 2015?

DR. ALAGHEBAND:  We said, okay, whatever we assumed, it has to be constant.  So we could have added and then over the forecast period we subtract the same amount.  We land at the same point.  So to avoid that complexity, which we said, okay, implicitly it is there already in actual and it is going to stay there at the same level.  So why should we add and then subtract?

MR. HARPER:  I think we've said the same thing, yeah.

DR. ALAGHEBAND:  Yes, that's correct.

MR. HARPER:  Okay.  No.  That's fine.  Thank you very much.  Those are all of my questions.

DR. ELSAYED:  Thank you.

Ms. Girvan, I think you are next.
Cross-Examination by Ms. Girvan:


MS. GIRVAN:  Thank you.  Good afternoon, Panel.  I am just waiting.  They seem to be conferring.

[Witness panel confers]

MS. GIRVAN:  So we're all set?  Okay, thanks.

I just want to go back initially to what Mr. Ladanyi was talking to you about.  I am a little bit confused.

So are we getting -- have you provided the most updated rate impacts to date, in terms of where we are in this proceeding?  We have the J1.1, but does that set out the rates requested?  And the impacts?

MR. ANDRE:  Yes.  J1.1, the impacts that appear on pages 9 and 10 -- sorry, 8, 9, and 10 all reflect the revenue requirement as updated as part of J1.1.

MS. GIRVAN:  Okay.  So these are the oral-hearing update -- those are the impacts that we're talking about?  Right?  These are the final rates -- impacts that you are seeking through your application to date?

MR. ANDRE:  This is part of J1.1.  Obviously there's, you know, there's going to be further changes.  I understand that cost of capital was updated --


MS. GIRVAN:  That's exactly what I was getting to.

MR. ANDRE:  Okay.

MS. GIRVAN:  So from what I understand -- and I just am trying to assess -- I mean, I think your proposal is at the end of the day to reflect the updates of the cost of capital in the draft rate order process.

But I think it would be helpful to parties if you could do that sooner rather than later, and I know that the inflation factor, for example, goes from 1.4 percent to 1.8 percent.  And the return on equity I think also changes from 8.9 to 8.52.  And I just wondered if you are planning on doing that sooner rather than later.

MR. STERNBERG:  Sorry to jump in.  We can do that, and probably the easiest is to do it by way of an updated version of J1.1, so we will endeavour to do that as quickly as we can.

DR. ELSAYED:  Thank you.

MS. GIRVAN:  Okay.  So can I take you to --


DR. ELSAYED:  Is that an undertaking?

MS. GIRVAN:  Oh, sorry, a number?

MR. SIDLOFSKY:  We will give that J8.5.
UNDERTAKING NO. J8.5:  TO PROVIDE AN UPDATED VERSION OF J1.1.

MS. GIRVAN:  Okay.  So hat is going to include essentially this schedule updated for the impact of the new cost-of-capital numbers; is that correct?

MR. ANDRE:  I think we're going to -- are we committing to update all of J1.1, all of J1.1, which would include these rate schedules, yes.

MS. GIRVAN:  Okay.  If you could just turn to Exhibit A, tab 4, schedule 1, page 7.  And this is your evidence regarding your rate plan.

Maybe if we could pull it up on the screen, that would be helpful.  Great.  Page 7.  And if we can look at Table 2.

So this is a summary of your revenue requirement and, again, what this sets out as well is the capital factor at the bottom for '21 and '22.

And I may be wrong, but the capital factor is going to change as well, isn't it, in the context of the changes to the cost of capital?

MR. VETSIS:  That's correct --


MS. GIRVAN:  Okay.  So --


MR. VETSIS:  -- as well as due to the changes in the inflation factor.

MS. GIRVAN:  Yes.  So can we get updated capital factor numbers as well?

MR. VETSIS:  I thought -- I think we can update this table as well as part of the undertaking.

MS. ANDERSON:  Yeah, I thought it was the entire J1.1.

MR. VETSIS:  In fact, that's page -- you know what -- thank you, Ms. Anderson -- page 3 of J1.1 actually is this table, so --


MS. GIRVAN:  Okay.  I didn't have that in front of me, I didn't have J1 point -- but that is important, yes.

So -- important to update the capital factors.  And will that also update the amounts related to the capital factor in each year?

MR. VETSIS:  Yes.  So I would expect -- I think you can see directionally we talked about LPMA, LPMA 2 I think shows you directionally how the capital factor reduces from the change in the inflation factor, and we would expect that the overall quantum would come down as well due to the change in cost-of-capital parameters.

MS. GIRVAN:  Okay.  So you are going to update the amounts?

MR. VETSIS:  Yes.

MS. GIRVAN:  Okay, great.  Is that the same --


DR. ELSAYED:  Part of the same undertaking, I suspect, yes.

MS. GIRVAN:  Okay.  Okay, thank you, that is helpful.

MS. ANDERSON:  Just so I am absolutely clear --


MS. GIRVAN:  Sure.

MS. ANDERSON:  -- when you say amounts were you referring to revenue-requirement amounts?

MS. GIRVAN:  Yeah.

MS. ANDERSON:  Okay.

MS. GIRVAN:  Related to the capital factor, and -- oh, yeah, it is in there, that's right, it is in line 8.  Right?  Is that correct?

MR. VETSIS:  Yeah, that would be the updated capital-related revenue requirement.

MS. GIRVAN:  Okay, that's perfect.  I just want to be clear.  It is hard when you get into the argument stage and you are not sure what the numbers are, so thank you very much.

So I just -- if you could please turn to page 10 of the same exhibit.  And this is about the capital in-service variance account.  And I know we have talked about this before with the other panels, but I was specifically asking you, Mr. Vetsis, in the context of your role in regulatory affairs.  You're going to be dealing with the calculations of this account, or someone in your shop?

MR. VETSIS:  Actual calculations would probably in the finance department, but let's see how the questions go.

MS. GIRVAN:  I am still trying to get my head around this idea that revenue requirement associated with variances in in-service additions resulting from verifiable productivity gains will be excluded from the calculation.

So I know we've had a discussion earlier about this point, but is there anywhere in the evidence where you have specifically explained how you are going to do this from an accounting perspective?

MR. VETSIS:  To be honest, Julie, I can't recall if there -- I know there is a calculation in evidence of like an example of what would happen if you came in at different levels of ISAs.  I don't know if it includes the element of productivity.  But I think we talked about this a little bit in the distribution proceeding, and I would expect it would work the same way here in transmission.

Effectively, what that would mean from a practical perspective would be -- if you turn to A-3-1, page 22.

MS. GIRVAN:  I think we were in A-3-1, weren't we?

MR. VETSIS:  I thought we were in A-4-1.

MS. GIRVAN:  You're right.  You know it better than I do.

MR. VETSIS:  Unfortunately.

[Laughter]

MR. VETSIS:  So effectively, what that line is saying is underpinning all of our requests is a certain level of capital-related productivity savings.

So that one line in the description of the capital in-service variance account is saying that to the extent that we have verifiable capital related productivity savings above what's in this table, those amounts would be excluded from the calculation when it comes to the capital in-service variance account.

So an easy way to think of it might be that you would effectively -- had you come in at 97 percent, but your capital-related productivity savings were the equivalent of 1.5 percent of your in-service additions, you would be saying that it's 97 plus the 1.5.  So that would mean that your in-service delivery was 98.5, and therefore there would be no entry in the account.

But again the onus is on the company to prove these savings and they would all flow through the governance, et cetera, that's been talked about over the last few weeks.

MS. GIRVAN:  So it is something that's going to be built up.  So I am trying to get my head around an example, a practical example that you have a project that costs $10 million.  And for some reason -- well, for a specific reason, it turns out to be 8 million.

If it's -- the 8 million is because some of the project wasn't -- I am trying to understand how you define spending less than you said you were going to spend versus spending less than you said you were going to spend because of productivity, and how you separate those two.

MR. VETSIS:  I think that's what panel 1 and 2 had been discussing for the last little while.  I mean, my -- there's a governance framework.  These things have to be verified that they're tracked.

MS. GIRVAN:  So it sounded me earlier, however, it was going to be somewhat -- maybe presented on the basis of, for example, this schedule.  Will you be providing the build-up to this?

MR. VETSIS:  I don't know that I've gotten to that level of detail as to what would be specifically provided.

I do know that on the DX side, we certainly do a productivity report.  So I would imagine that based on the tracking, we could at least show -- identify specifically what is the capital-related achievement and what was originally forecasted by the year.

MS. GIRVAN:  So would you see, I guess, a sort of a detailed analysis provided in the context of clearing that account?  Is that when we're going to see the evidence to support whether a reduction was simply you spent less versus you spent less because of productivity?

MR. VETSIS:  It would -- I would imagine it would have to be there at the time we seek OEB approval for the balance, yes.

MS. GIRVAN:  Okay, all right.  Thank you.  If you could turn to CME number 7, please, I just wanted clarification with respect to your Z-factor relief that you are seeking.

So you're seeking a Z-factor relief potentially consistent with the chapter 2 filing requirements for electricity transmission applications.

Would that be a symmetrical account of relief seeking, in the sense that if something happened out of your control that resulted in a benefit -- for example, some sort of a tax change or a legislative change -- would that be covered through the Z-factor application?

MR. VETSIS:  My recollection from the OEB's decision in our distribution proceeding is that they have indicated that a Z-factor could, in fact, also occur in instances -- in such instances.

MS. GIRVAN:  Okay.  So that is part of your proposal, then?

MR. VETSIS:  Our proposal is the materiality threshold here.

MS. GIRVAN:  But your proposal is also that it is symmetrical?  Or not?

MR. VETSIS:  We're proposing that a Z-factor mechanism would be available in accordance with the OEB's policies, as identified in the filing requirements.

MS. GIRVAN:  Okay, thanks.  Mr. Fenrick, I won't get into any of your analysis; it is a way over my head.  But I just have an overview question.

You talked about how the fact you did the study on the distribution side, and Hydro One didn't -- according to your analysis, doesn't perform as well on distribution versus transmission.  Is that what you're saying and that the resulting impact of that is a stretch factor in distribution, but not a stretch factor -- excuse me, a zero stretch factor in transmission.

MR. FENRICK:  Yes, that's correct.  Our Hydro One distribution finding was that the company was 22 percent above costs on the distribution side of the business.

And here it is minus 32.9 percent below cost.  And so you know, the higher total cost benchmark score in distribution following the fourth generation IR paradigm was a .45 percent stretch factor, and here it would be a zero percent stretch factor.

MS. GIRVAN:  Is that unusual within the same company?

MR. FENRICK:  I wouldn't characterize it as unusual, no.

MS. GIRVAN:  Have you ever done an analysis of a consolidated company where you are looking at one side of the business versus the other side of the business?

MR. FENRICK:  Yes, and I believe there have been results -- a mixed bag of results.  Sometimes they're good in both.  Sometimes there good and bad -- bad-bad I like to avoid the bad-bad.  But it is a mixed bag.

MS. GIRVAN:  Okay.  So it is not unusual for them to be different?

MR. FENRICK:  It wouldn't necessarily be unusual, no.

MS. GIRVAN:  Okay, thank you.  Could you please turn to Exhibit A, tab 4, schedule 1 again, and just the
first -- in the first three pages.  I just want to ask you something about -- and I can't -- yes.

So somewhere, you talk about the growth factor is not included because there's little change in the transmission load forecast.

I think you have to scroll down.  Sorry.

MR. VETSIS:  That is not actually what the PSE report was saying.  It was that there was no growth in the output parameters.  Those are -- I mean, I will let Mr. Fenrick talk about the difference between those two.

MS. GIRVAN:  I think it is on the next page, the words -- that's why that got confusing to me.  I have lost track of it.

It is in Board Staff, OEB Staff number 5, and I am just trying to reconcile what it says there.  Sorry, if you scroll down...


MR. VETSIS:  I think you might be referring -- are you referring to page 1?

MS. GIRVAN:  Yes.  At the bottom of page 1, yes.

MR. VETSIS:  I would just like to point out that that is an OEB Staff preamble.  That is not --


MS. GIRVAN:  Oh, it is.

MR. VETSIS:  -- a Hydro One evidence there.  I think that statement is incorrect.  It is not -- the PSE did not propose inclusion of the growth factor as a result of the change in the load forecast.  I will let Mr. Fenrick be more technical in his response.

MR. FENRICK:  That's exactly right.  The growth factor mathematically should be based on the outputs that correspond with the total factor productivity study.

MS. GIRVAN:  Okay.  Because I got very confused when I was reading this, and I thought this was taken directly from your evidence.  Okay.  Thank you.  That helps.

Could you please turn to -- oh, if you scroll down a little bit further, it talks about the capital factors.  And it says:

"Once calculated in this proceeding, the capital factors will not change in the future years."

So I just wanted to clarify that that's exactly what's -- so you are seeking approval today to set the capital factors for the next two years?  Is that correct?

MR. VETSIS:  That's correct.  Consistent with what was approved in our distribution application.

MS. GIRVAN:  Okay.  And they won't change on an ongoing basis.

MR. VETSIS:  No.

MS. GIRVAN:  So the specific numbers arising out of this decision will be the ones used to set rates in '21 and '22.

MR. VETSIS:  That is correct.

MS. GIRVAN:  Okay, thank you.  And is this the deferral and variance account panel?

MR. VETSIS:  No.  That was panel 2.

MS. GIRVAN:  Oh, was it?  Okay.  I had some questions on that.  I guess I missed that.  Okay.  Those are my questions.  Thank you.

DR. ELSAYED:  Thank you.  Why don't we go to Mr. Sidlofsky, and then we'll find a good time to take the afternoon break.  How long do you think you will need?

MR. SIDLOFSKY:  So I know I am shown as about 75 minutes in the schedule, but I doubt that I would be more than an hour.  If you would like to take the afternoon break now, we could do that, and I could just run through it in its entirety.  But I won't be carrying over until Monday.

DR. ELSAYED:  Okay.  Why don't we take the break now.  That way everybody can go home early today.  We will be back at 3:10.
--- Recess taken at 2:48 p.m.
--- On resuming at 3:15 p.m.

DR. ELSAYED:  Please be seated.  I understand you have a small item?

MR. STERNBERG:  Yes, just one small item that I have spoken to Mr. Sidlofsky and Mr. Harper about, and that is in respect to Mr. Harper's questions before the break on the CDM variance account, I understand from the panel that there is one small factual point that we thought would be useful to clarify at this point, if we may.

DR. ELSAYED:  Okay.  Go ahead, please.

DR. ALAGHEBAND:  On a factual basis, in the 2013 and 14 variance account, we knew what we assumed for LDC peak programs, there was a target identified.

And that target was used to compare the actual results with the target, so we could evaluate the LDC programs variance account on a very factual basis.

For 2016 and 2017, actually the CDM that we are using does not include a peak target for LDC programs.  In the new programs which were established for 2015 through to 2020, only the energy component had a target, not the peak component.

So we couldn't actually compare the peak target in this case, I mean we couldn't separate the peak target in this case and compare it with the actual peak results from IESO.

The only way that we could compare and establish a variance account was to compare the total CDM that we had with the total CDM that IESO has.  I just wanted to bring up this point perhaps what we have in your considerations.

DR. ELSAYED:  Okay, thank you.  Mr. Sidlofsky?
Cross-Examination by Mr. Sidlofsky:


MR. SIDLOFSKY:  Thank you, sir.  Board Staff have a compendium and I believe copies are on the dais.  That will be Exhibit K8.6.
EXHIBIT NO. K8.6:  BOARD STAFF COMPENDIUM FOR PANEL 4


MR. SIDLOFSKY:  Good afternoon, panel.  For those of you I haven't met, my name is James Sidlofsky, and I am Board Staff counsel.

I have four areas that I am going to deal with you on today: load forecast, export transmission service rates, billing demand definition for line and transformation connection services, and because no day would be complete without some questions for Mr. Fenrick, I have some questions for him as well.

We will start with load forecast, and I just have a few I questions on this actually.  In Hydro One's evidence, and in particular in Exhibit E, tab 3, schedule 1, appendix F, tables 6a, 6b and 6c -- and for your convenience, we've reproduced those at tables 2 to 4 of the Staff compendium, and perhaps we could have those brought up.

MR. ANDRE:  Yes, we have it.

MR. SIDLOFSKY:  Thank you.  Those tables present the forecast accuracy of Hydro One's OEB-approved forecasts on a weather-corrected basis for the past six or eight applications for each of network, line connection and transformation connection services, correct?

DR. ALAGHEBAND:  That is correct.

MR. SIDLOFSKY:  Now, my understanding when I read that table is that the right-hand side of the table shows a percentage difference between the actual weather-corrected value and the 12-month average forecast.  Correct?

DR. ALAGHEBAND:  That is correct.

MR. SIDLOFSKY:  And the numbers under the difference from actual weather-corrected percentage, can you just confirm that a positive percentage will mean that the forecast was above the actual weather-corrected value, and correspondingly the negative percentage will mean the forecast was below the actual weather-corrected value.

DR. ALAGHEBAND:  That's confirmed, yes.

MR. SIDLOFSKY:  Thank you.  Now, I notice that in general, Hydro One's average forecast accuracy in each of those tables -- I will give you an example of each of them just to be clear about what I am getting at.  But the average forecast accuracy seems to have become less accurate since the EB-2014-0140 proceeding.

So in table 6a, under the difference from actual weather-corrected, the average difference for the EB-2014-0140 proceeding was 0.89. And the average difference when we move forward to the EB-2016-0160 proceeding is 2.46 percent.

And if you look at the previous averages going back to EB-2006-0501 and forward, those averages seem to have been within a half of a percent, 0.5 percent from actual weather-corrected.  Am I reading that correctly?

DR. ALAGHEBAND:  The reading is correct, you know, but the interpretation needs a little qualification here.

The divergence you seen between the forecast and actual for the last forecast, last approved forecast, is basically due to the introduction of a new way of ICI, which was an expansion of an earlier program, and that was already, you know, discussed by my colleague, you know, Mr. Andre.

And so we have -- this is something that we can consider to be out of the forecasting capabilities, because these relates to government regulations.  These are not something that we can speculate in advance.  We cannot -- if I came right now, oh, the government is deciding to change this regulation by 2020 and on that basis, I am going to reduce my forecast by so much, it would not be a dispensable forecast.

This is an exogenous factor; it is not an econometric factor affecting the situation.

Therefore -- and this is one of the reasons, you know, the basic reason that actually we have the load factor going above 3.8 percent for this application.

MR. SIDLOFSKY:  So I've specifically referred to values in table 6a.  As I said, I was going to give you examples from table 6b and table 6c, and I would still be happy to do that.  But would your answer be the same?

DR. ALAGHEBAND:  That is correct.  There is a very fundamental and persistent relation between network line connection and transformation connection.

They go in tandem, so there is a correlation.  So if one of them is over-forecasted, all of them would be over-forecasted.

MR. SIDLOFSKY:  So when I do look at table 6b, which is line connection, the average difference from EB-2014-0140 is 1.27.  But then when we move forward to EB-2016-0160, it is 1.84.

And earlier applications seem to be within .83 percent from actual weather-corrected.  So your response would be the same there -- and I might as well ask you about table 6c as well.

In EB-2014-0140, the difference was 1.71 percent. And then moving forward to EB-2016-0160, that value is 2.36 percent.  And again, in the earlier proceedings, you were within approximately one percent from actual weather- corrected.

I take it your response is the same on all of those?

DR. ALAGHEBAND:  Exactly.  And actually, if you don't want to go through all of these three tables, there is a summary table in Exhibit E, schedule 1 -- tab 3, schedule 1 on page 26.  And that table summarizes all of the variances that you observe here in terms of kind of average.

So we can see that, yes, for the last forecast, the last approved forecast, which was there, you can see that it is 2.26 percent on the average compared to 1.29 in the earlier forecast. And there are lower values in other years of forecast.

But if you look at the average also, average of the average, which is on the right side of the table, the last number, it is only.14, which shows that on the average, the forecast accuracy was okay.

There are always external factors that sometimes are on the negative side or sometimes on the positive side that affects the situation.  But in terms of overall forecast accuracy over the past six rate filings, we can observe that on the average, we had only 0.14 percent error, which is almost minimal.  I mean, if you ask any forecaster, they would say this is a very good forecast.

MR. SIDLOFSKY:  And I appreciate the average of the averages there.  But what I was seeing was that there seemed to be a more significant variance when we moved forward from the 2014 proceeding.

Now, are you seeing any issue there with your forecasting accuracy?  Or is it simply a -- "coincidence" isn't the right word, but is it simply the fact that you had extraneous policy issues that affected your -- that affected your forecasting?

DR. ALAGHEBAND:  For the last approved forecast, I can say that mostly -- I mean, the basic reason was introduction or expansion of the new ICI.

This far there were only 300 customers under -- eligible for ICI before 2017.  They were increased to 1,000 by January 1st, 2017.  And those new customers included not only industrial customers but also the program was expanded to include commercial customers.

And later on, in, I think it was in April 2017 that the program was further extended to go from 1 megawatt to .5-megawatt for eligibility, and that increased again the customer base eligible for ICI.  That's a significant amount of increasing ICI eligibility.  So that is the basic reason.

If you go to forecast for 2000 -- for the one before that, 2014 forecast, that one was explained during the last transmission hearing that the basic fact was totally unexpected things that happened.

For example, we know that fundamentally almost the whole world economy changed.  For example, price of oil at the time that we did the forecast was about $100, and it dropped at some point to $26.  Totally unexpected.

And there was commodity prices also very affected which affects Ontario.  And there were also fundamental shifts in the economy in a very rapid pace, in terms of online selling, what you call it, globalization of the production.

There were companies actually in Ontario which are producers and now they are reduced to a headquarter, which managed through a chain of -- supply chain.  They buy from one country, they package in another country, sell to the other country and things like that, all out of Ontario.

So you can imagine that some fundamental change has happened and that -- Canadian dollar, for example, was around $1 -- around one -- you know, one to one to U.S. dollar.  So then it dropped at some point to less than .7, and it stayed there.

So there was some fundamental changes that happened which was totally different from the time that -- at the time that we did the forecast.

MR. SIDLOFSKY:  Sorry, I am just try to understand.  Those fundamental changes in the economy happened in the late 2000s, correct?

DR. ALAGHEBAND:  Late 2000s was another one, which was the financial crisis.

MR. SIDLOFSKY:  Okay.  Sorry.  That is not what you're referring to.

DR. ALAGHEBAND:  Not that one.  This is the one that happened after 2014, for example, where the price of oil dropped in 2015.

MR. SIDLOFSKY:  Right, okay.  Do you work on an ongoing basis to improve your forecast accuracy?

DR. ALAGHEBAND:  Well, if you actually go back to -- we have done substantial efforts to improve forecast accuracy, and that was reflected in I-1-151 for -- so we looked at different factors.

Actually, 152 would have been better, yes.  So we look at each equation and we try to see how we can improve upon that.  Our default equation is always -- in any forecast is what we had in the last approved forecast.  And we try to improve upon that based on a standard regulation criteria.

It was explained in that response to interrogatory -- this is again, you know, I-1-152.  And so there are four pages there.  I won't go through them again, you know, but it explains how much effort we put into improving those equations one at a time, and -- well, and then it was also demonstrated in the next response to interrogatory I-1-153 that forecast accuracy after doing that compared to the model that we had before is actually improved significantly.

MR. SIDLOFSKY:  Okay.  Thank you.  I am going to move on to export transmission service rates.  And my friend, Mr. Vellone, and others have asked you a number of questions about that, and I am going to try not to repeat their work.

But if you don't mind, if you can bear with me, I just -- I am just going to recap my understanding of your proposal in this application when it comes to the ETS rate.

So the current ETS rate of 1.85 per megawatt-hour was settled and subsequently approved by the OEB in Hydro One's 2015/'16 transmission application.  That was EB-2014-0410.  Correct?

MR. LI:  Yes, that's correct.

MR. SIDLOFSKY:  And in that application, you calculated an ETS rate of -- or, excuse me, in this application you have calculated an ETS rate of $1.25 a megawatt-hour using the Elenchus methodology.

MR. LI:  Yes.

MR. SIDLOFSKY:  And that methodology was filed as part of the 2015/'16 transmission application?

MR. LI:  Yes.

MR. ANDRE:  Sorry, just to clarify --


MR. SIDLOFSKY:  Yes.

MR. ANDRE:  -- the Elenchus study included a number of scenarios, and the methodology that they recommended, that's the one that we've reported on.

MR. SIDLOFSKY:  Thank you for that.

Now, notwithstanding the calculated rate of $1.25 per megawatt-hour, you're proposing to maintain the ETS rate at the current level of $1.85.  Correct?

MR. LI:  Yes.

MR. SIDLOFSKY:  Now, if I can take you to page 7 of the compendium.

MR. LI:  Actually, you know, if I may add to it --


MR. SIDLOFSKY:  Sure.

MR. LI:  -- I think yesterday I talked about Hydro One's position when it comes to the ETS rate already.  I think the main purpose of this study is to inform the OEB and the stakeholder what a cost-based ETS rate would be with the latest information.

We are quite neutral about the ETS rate in a sense.  But, yes, we did suggest, with the reasons that we talked about yesterday, first the nature of ETS rate, negotiated rate, potentially negative impact on UTR, and that's why we proposed $1.85.

MR. SIDLOFSKY:  And I was just about to get to that, so thank you.  When we're at page 7 of the compendium, you stated that the reason for maintaining the $1.85 per megawatt-hour was -- and I will say that this was in addition to it being the result of a negotiated rate in that earlier proceeding -- you say that a decrease in the ETS rate will negatively impact the transmission rates that Ontario customers pay, and could be perceived as benefiting customers in neighbouring jurisdictions at the expense of Ontario consumers.

So my understanding is that you're proposing to keep the ETS rate at the current level of $1.85 because ETS revenue is part of other revenue that will have an impact on domestic customers' bills; is that right?

MR. LI:  That's one of the reasons, yes.

MR. SIDLOFSKY:  So I don't think you use the word "indifferent", maybe you did, but that is not intended to have a negative connotation, but you are indifferent as to what the rate ultimately is, but you were conscious of the impact that a lower rate -- that calculated rate could have on Ontario transmission customers.  Is that a fair statement?

MR. LI:  I guess -- let me rephrase then.  I think financially it has no impact on Hydro One, but we do care about the impact to Ontario customers and transmission customers, and that's why we do propose to maintain $1.85.

MR. SIDLOFSKY:  Okay.  If we could go to page 9 of the compendium.  And in particular, I am looking at your response to VECC interrogatory 54, part A.

You were asked to confirm that the parties to EB-2014-0140 agreed on the ETS rate on the understanding that the methodologies, assumptions, and scenarios used in the Elenchus study do not have precedential value and may be challenged in subsequent proceedings.

I am just reading from the question.  And your -- and you did confirm in your response that the parties to that proceeding agreed on the ETS rate on that understanding, and in part B of that interrogatory you also confirmed that the OEB decision on the 2014 proceeding approved the settlement agreement as filed without opining on matters specifically related to the ETS or the Elenchus study.

I'd ask you to confirm those, but they are your statements.

MR. ANDRE:  Yes, we confirm that that is exactly what happened.

MR. SIDLOFSKY:  And yesterday Mr. Vellone asked whether you generally agree with the Elenchus cost-allocation methodology, and Mr. Li's response was that we took no issues with the Elenchus study.

Do you recall that discussion?

MR. LI:  I did say that.  But at the same time, that is the recommended methodology by Elenchus and that's why, when we do the study, we chose to use the recommended methodology -- I'm sorry.  I should say recommended scenario, because there are multiple scenarios in the study.  So we did choose to use the recommended study -- scenario to do the study.

But at the same time, I do want to point out that there are multiple scenarios that were never fully examined or tested in that proceeding.

MR. SIDLOFSKY:  Now, at page 7 of the compendium, and this is from Exhibit I, tab 2, schedule 1, you explained that the reason for the -- sorry, you explained the reasons for the decrease in the ETS rate using the Elenchus model.  You explained that it was -- it was that the decrease in the calculated ETS rate as compared to the 2015 study primarily reflects a decrease in Hydro One's OM&A costs relative to what was proposed at that time -- at the time the 2015 study was completed, and an increase in forecast exports in megawatts hours from what was assumed in the 2015 study.

Can you confirm that those are the reasons?

MR. LI:  Yes.  Those are the two key reasons, yes.

MR. SIDLOFSKY:  Okay.  I am just going to move back to pages 5 and 6 of the compendium.

MR. LI:  I'm sorry, what page number again?

MR. SIDLOFSKY:  Sorry, pages five and 6.  Those are extracts from Exhibit I-2, tab 4, schedule one.  Those are actually pages 1 and 2 of the four pages of that exhibit.

MR. LI:  I've got it, thank you.

MR. SIDLOFSKY:  Thank you.  You listed the criteria for Elenchus recommended methodology, and I just wanted to touch on a few of the bullets there.

If you can scroll down on page 1, please.  Well, actually start with -- or I am actually going to start with the third bullet, so that would be on page 2.  Thank you.

The third bullet reads:
"Allocate only dedicated assets used to serve export customers and related expenses to the export customer class.  No asset related costs associated with shared assets should be allocated to export customers."


So do I understand correctly that for the purpose of allocating costs between domestic and export customers, assets were organized into three categories:  assets dedicated to domestic customers, assets dedicated to export customers, and shared assets.  Is that accurate?

MR. LI:  Yes, that's correct.

MR. SIDLOFSKY:  So that assets related to costs associated with -- excuse me. Costs associated with shared assets were not allocated to export customers -- or at least those portions of the costs related to shared assets that would have applied to export customers weren't allocated to them.  Is that right?

[Witness panel confers]

MR. LI:  Maybe I can elaborate a little bit here.  When it comes to the three categories that we are talking about here, dedicated asset -- okay.

If you look at the revenue requirement components, I guess I am going to turn it into categories.  There is OM&A and then there is non-OM&A.

I guess another word for non-OM&A is asset related costs.  It is a little bit confusing, but just the revenue requirement component is OM&A and then non-OM&A, okay.

So when it comes to dedicated asset, all the revenue requirement components, OM&A and non-OM&A, goes to export.

When it comes to assets that are dedicated to domestic, everything non-OM&A, OM&A goes to domestic.

When it comes to shared assets, that is the different one, the OM&A cost is shared between export and domestic.  But when it comes to non-OM&A, everything goes to domestic.

MR. ANDRE:  So that would be costs like net income, debt and depreciation costs.  Those are the revenue requirement components that are asset related or non-OM&A.

MR. SIDLOFSKY:  And why would those not be allocated, at least in part, to export customers?

MR. LI:  That's as per Elenchus methodology, but maybe -- sorry.

[Witness panel confers]

MR. ANDRE:  Yes, the Elenchus report was provided --the full Elenchus report was provided as part of undertaking JT1.36, question 2.

And if you go to the Elenchus report, the discussion of the rationale for not including any asset related cost is provided at the top of page 12.  And per what Elenchus said, they talk about export being considered an interruptible service, and therefore no asset related costs associated with shared assets are proposed to be allocated to the customer class.

And they do touch on, in the next paragraph, that HONI's -- Hydro One's planning of network transmission system does not take into consideration the capacity needed to supply export customers.  Transmission planning is only based on the capacity needs of domestic customers.

So in terms of the planning and the capacity that drives the network, the rationale was that it wasn't driven by export. So that is on page 12 of the Elenchus report.

I would note of course that clearly export customers are making use of those assets.  But in Elenchus' study, they felt the fact that the capacity of the network, because it wasn't designed specifically to meet export needs, that's why they proposed the scenario that they did, which involved only charging export customers for the OM&A share of network assets.

MR. SIDLOFSKY:  Sorry, if I can try to simplify that for my own mind, is the thinking there then that those non-OM&A components had to be there in any event to serve the domestic customers?

MR. ANDRE:  Yes.  Yes, in simple terms, I think that is the approach that Elenchus -- or the justification that Elenchus used to recommend that scenario as the appropriate scenario.

MR. SIDLOFSKY:  And I know you said you agree with the -- you have adopted that Elenchus approach.  Do you agree with that particular aspect of it?

MR. ANDRE:  I don't take issue with the fact that, you know, in terms of the capacity of the network, certainly our planners don't take into account the amount of exports that need to be delivered.

I know the first one talks about export being interruptible.  My understanding is that the IESO will schedule export transactions, just like they will any other load that needs to be met within the province.

But then of course if there is some kind of security incident and there is a capacity shortage, then, yes, export transactions are the first to be cancelled.

But, you know, my understanding is that they are scheduled on a normal basis like other load.

And then the last point that I would make, Mr. Sidlofsky, is, you know, they do make use of the asset.  So they may not be -- they may not have driven the planning around it, but they are benefiting from the use of the network assets.

So I have a qualified acceptance, but I do recognize that, you know, the capacity of the system wasn't driven by exports, so I don't take strong issue with what Elenchus recommended. But I would highlight those other points.

MR. SIDLOFSKY:  Now, in terms of -- in terms of Hydro One's position, you get your revenue no matter what.  This is really a matter of allocating those costs.

MR. ANDRE:  That's right.  That's right, and it's a matter of -- you know, on that same report, if you go to page 19 of the Elenchus report, I think you have heard us mention a number of times there were various scenarios.

So scenario one is the base case and it is what Elenchus recommended.

But the scenario -- oh, sorry, yes, you're right.  It is scenario 3 --


[Witness panel confers]

MR. ANDRE:  Okay, okay, sorry, go to page 21, actually, I think is what we ended up recommending.

So there is various scenarios.  There is the base case.  Sorry, there is the base case, and then these are six scenarios on the base case.  Thank you, Mr. Li.

Yes.  So scenario one uses 12 coincident peak based on average of three years, but I wanted to point out that there is this sixth scenario where export customers would pay for a share of the network assets, and if they were to pay for a share of the network assets based on the last report you can see that that is a considerably higher number.

So I just, you know, again wanted to highlight that there is that range of possible ETS rates that were in the Elenchus study, although the recommended one -- and as I say, I don't think Hydro One takes issue with the methodology that Elenchus ended up recommending the base case scenario.

MR. SIDLOFSKY:  Okay.  Could I take you back to page 6 of the compendium, please.  And, sorry, if you could bear with me for just a minute.

Sorry, my apologies.  If you could just go back one page, please, to page 5.  Bottom of page 5.  The first bullet.  And the first bullet is the -- well, the first of the Elenchus criteria, and that was, utilize the 12 coincident peak as the allocator in apportioning assets between domestic and export customers in order to develop composite allocators to allocate shared expenses.

Sorry, that is the first bullet on the next page; it is actually the second bullet overall.  Thank you.

Can you explain why the 12 coincident peak allocator rather than one CP was used?

MR. ANDRE:  I imagine -- just bear with me.  Yes.  So Elenchus addressed that on page 14 of their report, down at line 11.

So they looked at one CP and 12 CP in the two pages before that.  And then at line 11 they talk about when system loads are relatively flat and do not show pronounced yearly peak, 12 coincident peak is usually used by utilities to allocate demand-related assets and expenses.  And only in instances where there is a significant yearly peak compared to other peaks in the year, you know, resulting in very peaky low profile with a low load factor, then a one coincident peak would be used, so their recommendation was in this instance to use 12 coincident peaks.

MR. SIDLOFSKY:  Okay, thank you.  I will move on to the billing demand definition for line and transformation connection services.

Now, you are proposing to update the definition for billing demand for line and transformation connection services to reflect the changes in the embedded generation market over the years, correct?

MR. LI:  Yes, that's correct.

MR. SIDLOFSKY:  And on page 15 of the compendium we have an extract from Exhibit I-2, tab 6, schedule 2, attachment 1, specifically page 3.

Hydro One showed your proposed wording changes and the tracked debits.

MR. LI:  I just want to say --


MR. SIDLOFSKY:  Yes.

MR. LI:  -- in one of the undertakings -- let me take you to -- just give me a second here.  If I can take you to --


MR. SIDLOFSKY:  Is it JT2.34?

MR. LI:  Yes, that's correct.  Yeah, I just want to make sure, because what I am seeing here, that is what we filed.  But then subsequently we proposed to make some further changes, and that is reflected in JT2.34.

MR. SIDLOFSKY:  And maybe I could ask you to look at page 19 of the compendium.

MR. LI:  Okay.

MR. SIDLOFSKY:  And in response to Undertaking JT2.34, you said that solar generators are renewable generation and you proposed to remove the words "or solar generators."

So now essentially the proposed changes were made to include only energy storage facilities to the definition of embedded generation.  Is that what you were getting at?

MR. LI:  That's correct.

MR. SIDLOFSKY:  Okay.  And I am wondering if you can -- if you would mind providing a revised version of Exhibit I-2, tab 6, schedule 2, attachment 1 with track changes to reflect the removal of solar generators.

MR. LI:  Yes, we can do that.

MR. SIDLOFSKY:  That will be Undertaking -- sorry.  That will be J8.6.
UNDERTAKING NO. J8.6:  TO PROVIDE A REVISED VERSION OF EXHIBIT I-2, TAB 6, SCHEDULE 2, ATTACHMENT 1 WITH TRACK CHANGES TO REFLECT THE REMOVAL OF SOLAR GENERATORS.

MR. SIDLOFSKY:  And you don't consider energy storage facilities as renewable generation; is that correct?

MR. LI:  That's correct.

MR. SIDLOFSKY:  So you were proposing a 1 megawatt threshold for those facilities?

MR. LI:  Yes.

MR. SIDLOFSKY:  Okay.  Can you explain why you don't consider those facilities to be renewable generation?  And I might as well ask you the whole question, because I may ask -- I'd be asking you this anyway.

When you give me your answer, can you tell me whether there are any legislative or policy guidelines supporting that conclusion?

MR. LI:  Just give me a second.

MR. SIDLOFSKY:  Sure.

[Witness panel confers]

MR. ANDRE:  It was specified somewhere.  We're just looking for that reference.

MR. SIDLOFSKY:  Thank you.

MR. LI:  Okay.  So if I can take you to I-1-2-2-5, it is actually, I think, Board Staff IR number 225.  So if you go to part C, that is -- I'm sorry, just give me a second here.

Yeah, in part C we talk about the change, adding the 2-megawatt limits.  But in this response we did not talk about the regulation, but they're --


MR. ANDRE:  Yeah, but I can confirm.  If you go to that reference that's provided in the response to part C there, you would see the description of the generation of the type of generation that would qualify for the 2 megawatts, and it specifically identifies names, calls out the generation.

So energy storage isn't specifically identified at the time, not surprisingly, because it might not have been an issue, but it wasn't specifically called out as a type of renewable generation that would be covered by the 2-megawatt limit.

MR. SIDLOFSKY:  While we're -- sorry, while we're on your response to staff interrogatory 225, in part A, we asked -- we asked you the reason for the proposed wording changes, and your answer was that the -- sorry:

"The proposed changes in wording clarified reflect Hydro One's interpretation of these definitions in the data provided to the IESO for transmission billing purposes."

Is that related to your answer a moment ago, Mr. Andre?  Or was that a separate set of definitions that you are speaking to there?

[Witness panel confers]

MR. ANDRE:  Yes, it is.  So we don't bill the transmission customers directly.  We provide the information to the IESO, who then bill customers, and the information that we provide to the IESO is based on the assumption -- is based on that assumption that, you know, that the 2-megawatt limit or the 1-megawatt limit, I guess, yes.

MR. LI:  As defined in the rate schedule.

MR. ANDRE:  That's right.

MR. LI:  Yeah.

MR. ANDRE:  Applies.

MR. SIDLOFSKY:  So this all sort of flows back to your response to part C and the reference you gave.

MR. ANDRE:  That's correct, that's correct.  If you go in there, like I say, you will see a specific reference to the types of generation that are covered by that definition of renewable.

MR. SIDLOFSKY:  Okay.  So I won't need any additional information from you if I just follow that reference is what you are telling me?  section 3.2 of the decision in RP-1999-0044.

[Witness panel confers]

MR. ANDRE:  Yes, that's correct.  So we have an actual excerpt from there, and what you will read when you get there is that they wanted to maintain the existing definition of renewable generation as developed by the Ontario government, which states that a renewable generation facility refers to a facility that generates electricity from the following sources: wind, solar, biomass, bio-oil, bio-gas, landfill gas or water.

So that is the definition of renewable per that reference that I gave you.

MR. SIDLOFSKY:  Okay, thank you.  I will move on to Mr. Fenrick now with a few questions -- a little more than a few, but not a lot, though.

Could I take you to page 2 of your reply report, Mr. Fenrick?  In the middle of the page, you've said PEG is recommending a negative, negative .25 percent productivity factor.

Do you see that there?  It is in the middle.  And you go on to say:
"We estimate this would become negative 0.44 percent if PEG added 2017 and 2018 data to its analysis."


MR. FENRICK:  Yes, I see that.

MR. SIDLOFSKY:  It's in the paragraph just before heading 1.1.

And as I read your original evidence, which was at Exhibit A, tab 4, schedule 1, attachment 1, page 10, I understand that your evidence had a range from 2004 to 2016.  That was your sample range, correct?

MR. FENRICK:  Correct, that was the original sample range, and then we expanded to 2017 and 2018 with the reply report.

MR. SIDLOFSKY:  Right.  Now, at that time, you hadn't extended the data range from the earlier study filed in the Hydro One Sault Ste Marie case?

MR. FENRICK:  That's correct.  In the HOSSM case, it was the 2004 through 2016.

MR. SIDLOFSKY:  And you summarized any changes that you had made from the Hydro One -- from the HOSSM report in your executive summary on page 4 of that evidence.  That was your pre-filed evidence.

MR. FENRICK:  That's correct.

MR. SIDLOFSKY:  And in fact you responded to interrogatories on why you didn't extend the data range, and specifically OEB Staff and London Property Management Association had asked you about that.

And do you recall being asked about that?

MR. STERNBERG:  It might be useful -- I think there were some IRs on this -- if Mr. Sidlofsky pulls up the IRs he is talking about so we can look at it, and Mr. Fenrick can see the specific IR and the responses he is referring to.

MR. SIDLOFSKY:  Sure.  It's Exhibit I, tab 1, schedule 8, and I will take you in particular to part B of that response.

So the question was:
"Please explain why PSE did not update its TFP and total cost benchmarking analysis with an additional year of data of 2017 actuals for both Hydro One Networks and the US sample."


And your response to part B was that when you prepared your report for this proceeding, and given the nature of the report as a follow up to the report in EB-2018-0218, it did not seem necessary to update it for the 2017 actual data for the sample utilities at that time.  Correct?

MR. STERNBERG:  Could I -- it would be useful if he reads the rest -- that is just part of the response, because it goes on to speak to the points.  If my friend is reading the answer to him and saying is that the answer, it would be useful if he read the whole answer, please.

MR. SIDLOFSKY:  No, I will be and I was going to take it in pieces, but that's fine.
"In EB-2018-0218, both the PSE and PEG studies and reports used 2016 as the most recent year of actual data for the sample utilities. The study could be updated for more recent actual data as necessary.  PSE would be prepared to do so, but significant additional time would be required given the scope of the work involved."


So I have now read the whole paragraph at once and that is your answer, correct?

MR. FENRICK:  Yes.  At the time we had not done that research, and that was our response.

MR. SIDLOFSKY:  Now, if I flip to page 6 of your reply report, you say that -- sorry, I will give you a chance to get there, the second paragraph.

You say that:
"In response to PEG and stakeholder comments and questions on lengthening the time period, PSE has now added the years 2017 and 2018 to our industry TFP sample.  The sample starts in 2005 and goes to 2018.  This provides 14 sample years of TFP trends and incorporates the most recently available data.  In conducting this update, we did not make any other changes to our methodology other than adding 2017 and 2018 observations to the industry sample."


Can you confirm that?

MR. FENRICK:  Yes.

MR. SIDLOFSKY:  So I take it you arrived at your estimate of negative 0.44 percent by actually updating your models or analyses with the 2017 and 2018 data for all of the utilities in the sample.  Is that correct?

MR. FENRICK:  Our estimate is negative 1.61 percent for the TFP trend.  The negative .44 percent is what we would estimate PEG would be at, if they were to update to 2017 and '18.

MR. SIDLOFSKY:  And you mentioned at the beginning of that paragraph comments from PEG and other stakeholders about lengthening the time period.

Can you tell me what you are referring to there?  Who was asking for that?

MR. FENRICK:  I think the IRs that you previously referenced, as well as PEG's comments in their report, they had specific concerns on the TFP trend in particular.

If you look at page 19 of 76 of the PEG report, they had three critiques and the largest -- or the first one is the sample, the sample period critique where they thought a longer sample period was preferable.

MR. SIDLOFSKY:  So that was a critique you were responding to.  It wasn't a request that an intervenor or party made?  I am just trying to understand where this update was coming from.

MR. FENRICK:  If we go -- could we go to page 19 of the PEG report?  I guess Exhibit M-1.

MR. STERNBERG:  September 5, 2019.

MR. FENRICK:  Yes.  Maybe I will just read what it says here.

In their concern on the TFP, it says:
"A 12-year sample period is fairly short for an X-factor calibration study.  It is good practice to report results for a longer period when the practitioner favours a short period."


While we believe 12 years was an appropriate time period, given the fourth generation IR used a 10-year TFP period, another study that we looked at in the HOSSM proceeding was the Australian energy regulator did a transmission TFP study and their period was ten years.

We had no issues with extending to 2018, you know, given PEG's concern that they wished to have a longer sample period.  So adding 2017 and '18 was the more appropriate years to be adding to the sample.  So we accommodated that.

MR. SIDLOFSKY:  Now, you didn't -- I am just thinking back to your discussion with Dr. Higgin this morning.  First of all, are there any other reasons you decided to update that analysis?  Or does that pretty much summarize your reasons for updating for 2017 and '18?

MR. FENRICK:  From my standpoint, I believe having the most available data and the most recently available data is the preferred approach.

And so I believe updating the 2018 is -- provides the Board and stakeholders with the most recent information, the most recent TFP trends, to examine when making decisions.

And so that's another rationale, is, it is the most recent information and it's relevant.

MR. SIDLOFSKY:  And I think you confirmed this morning that you didn't update the tables in your original evidence.  I will just give you an example.

Table 2 on page 6 of Exhibit A, tab 4, schedule 1, attachment 1.

MR. FENRICK:  That's right.

MR. SIDLOFSKY:  There are no updated tables on the record, are there?

MR. FENRICK:  No.

MR. SIDLOFSKY:  Would you be prepared to update those tables and file them?

MR. FENRICK:  Yeah, that would be --  we can undertake to do that.

MR. SIDLOFSKY:  J8.7.
UNDERTAKING NO. J8.7:  TO PROVIDE UPDATED VERSIONS OF THE TABLES FOR TFP ANALYSIS IN THE PEG ORIGINAL EVIDENCE, THAT HAVE NOT YET BEEN UPDATED.


MR. SIDLOFSKY:  Thank you.

MR. FENRICK:  Mr. Sidlofsky, what tables specifically do you want to have us update?

MR. SIDLOFSKY:  Bear with me for a moment.

They're the detailed tables for the TFP analysis.  So Table 2 on page 6 of Exhibit A, tab 4, schedule 1, attachment 1 is definitely one of them.  That's the specific one that I am aware of.

If you can just bear with me for a moment, Mr. Ritchie may have another thought.  What I would ask you for is any tables that support your TFP analysis from the pre-filed evidence that haven't been updated.

MR. FENRICK:  Okay.  That can be done.

MR. SIDLOFSKY:  Thank you.  Now, that's the total factor productivity side of things.  Similarly, when I look at section 3.2 of your reply report, on total cost benchmarking, it appears that you have also updated that analysis with 2017 and '18 data for the sample.  Is that correct?

MR. FENRICK:  That's correct.

MR. SIDLOFSKY:  And you haven't provided the statistical model summaries for the total cost benchmarking in your reply report, have you?

MR. FENRICK:  That's correct.  We provided it in Table 1, the results.  But we did not provide the econometric model and those types of tables.

MR. SIDLOFSKY:  Will you provide that?

MR. FENRICK:  Yes.

MR. SIDLOFSKY:  Thank you.  J8.8.
UNDERTAKING NO. J8.8:  TO PROVIDE THE STATISTICAL MODEL SUMMARIES FOR THE TOTAL COST BENCHMARKING IN THE REPLY REPORT.

MR. SIDLOFSKY:  And I know you had a discussion that touched on the working papers with Dr. Higgin this morning, but I would like them.  Can you provide them, presumably in confidence?

MR. FENRICK:  In confidence, yes.

MR. SIDLOFSKY:  J8.9, thank you.
UNDERTAKING NO. J8.9:  TO PROVIDE THE WORKING PAPERS IN CONFIDENCE.

MR. SIDLOFSKY:  I just want to go to another area in your reply report, and it goes to the number of years that you used in your study.  And to begin, just looking at section 1.1.2 on pages 4 and 5 of your reply report.

You provide some commentary on what you perceive as an overly complicated estimation technique for total cost benchmarking, or for the total cost benchmarking model.

And then in section 2 and more particularly in subsections 2.1, 2.2, and 2.2.1, and that's on pages 12 to 17 of the reply report, you have a fairly lengthy discussion on statistical estimation techniques.

And I will say, as I had it explained to me, you're trying to correct the heteroscedasticity and auto-correlation and to get good coefficient estimates.  And I will ask you if that is a fair description of the issue there?

MR. FENRICK:  That is partly true.  But not entirely true.  The first part is true, in when we did our method we are correcting for heteroscedasticity and auto-correlation.

We are not trying to get better coefficients.  The coefficients that come from the Ordinary Least Squares model, OLS, those cannot be improved upon, and so we don't touch them.  We don't change them in any way.  So we're not trying to improve them.  They're not biased because of heteroscedasticity and auto-correlation.

So what the issue is -- and maybe I could take you to page 34 of the PSE report, of the main report, yes.  Sorry, the -- my first report.  So here's one of the tables we will update with the 2017 and 2018 data.

But in the estimated coefficient column, those coefficients are what goes into calculating the benchmark scores.  So those are what matter when we're doing the calculation.

When we're correcting for heteroscedasticity and auto-correlation, we're not trying to improve those coefficients.  What we're doing is making the standard errors more efficient, and those are what calculates the T statistics.

In this -- in the method that we're using, the only thing that the T statistics are used for is figuring out should the variable be included or not.

So we're not trying to improve the benchmark scores or the coefficients that calculate the benchmark scores.  We're looking and trying to improve the efficiency of those T stats.

What you see here is all these T stats are highly significant.  Anything over 1.645 indicates a 90 percent confidence that the variable impacts cost.

And all of these T stats are highly significant.  So this variable group is robust.  PEG themselves are essentially using the same variables in their model.  I tested this just using the Ordinary Least Squares model and, not making any adjustments, these variables are still robust.

We did the Driscoll Kraay method, which is the method we're using, to adjust the standard errors on the PEG model.  This variable group is still robust.

So all of these heteroscedasticity auto-correlation discussions really are not relevant in the fact that this variable group is very robust, and we don't want to change the coefficients, and that's the nice thing about the method we're using, that PSE is using.  We're not changing these coefficients.  We're not in any way manipulating them.  It is out of the hands of the researcher.

My issue with PEG is, when they are trying to adjust for heteroscedasticity and auto-correlation, they're using methods that do impact these coefficients.  And those do impact the benchmark scores.  And that's a very slippery slope to be going down, to be changing modelling procedures from case to case.  And that's what we see here.

I believe the best approach is to use the ordinary least square co-efficients, which calculate the benchmarks, and then use the Driscoll Kraay method to do the T stats.  But again, that method does not impact the benchmark scores.

So I think that is a helpful context to the discussion I was having in that section.

MR. SIDLOFSKY:  And that supports your argument that the Driscoll Kraay method is better than the generalized least squares technique that PEG is using, is that right?

MR. FENRICK:  I believe my technique is far more transparent, reproducible by standard software packages, takes the decision out of the researcher's hands as far as modelling procedures.

We saw what happened from HOSSM to here, when the model procedure changed, when PEG changed it.  That is not something the researcher should be determining.

Better -- if PEG did everything correctly as far as their coding, if those are valid procedures to be doing, if there is no errors, then I can't say the co-efficients I came up with are better than PEG's.

But what I can say is PEG's are certainly not better than ours, and ours are far more transparent with less error and subjectivity put into them.

MR. SIDLOFSKY:  Still sticking with you, Mr. Fenrick, but just a slightly different theme here.  Can I take you to pages 68 and 69 of the compendium?  What I am taking you to is a portion of an article by Gustav Millo.

The article is titled "Robust standard error estimators for panel models - a unifying approach".

And the article actually starts at page 61 of the Staff compendium, but I will keep you at pages 68 and 69.  I have a fairly narrow focus -- a very narrow focus in my questions here.

At the bottom of pages -- excuse me at the bottom of page 68 and the top of page 69, there is a discussion of the Driscoll Kraay method.  I am not sure if you are familiar with this article or not.  Have you seen this?

MR. FENRICK:  Prior to last night's reading, no.

MR. SIDLOFSKY:  I am sure it was exciting.  There is a discussion of the Driscoll Kraay method...


MR. STERNBERG:   Mr. Sidlofsky, we would like you to explain it to us, some of the formula, please.

[Laughter]

MR. SIDLOFSKY:  Yes, and I will get right on that.  I will need an undertaking for that, though, I think.

But the Driscoll Kraay method is discussed and at the top of page number 9 of the article -- so the top of page 69 of the compendium.  The author writes:

"The 'scc' co-variance estimator requires the data to be a mixing sequence, i.e., roughly speaking, to have serial and cross serial dependence dying out quickly enough with the T dimension, which is therefore supposed to be fairly large."


And the reference there is Driscoll & Kraay (1998), based on Monte Carlo simulation, put the practical minimum that T > 20-25.
"The n dimension is irrelevant in this respect and is allowed to grow at any rate relative to T."


Now, I understand that the key point being made in this part of the article where your evidence is concerned is that the T dimension is the time dimension.  Correct?

MR. FENRICK:  That's correct.

MR. SIDLOFSKY:  See, that much I've got.

[Laughter]

MR. SIDLOFSKY:  And that would refer to the number of periods that the data is available for, whether it is monthly or quarterly or annually, just to give a few examples.  Would you agree?

MR. FENRICK:  Right, and in this case, annual.

MR. SIDLOFSKY:  Okay.  And your data range was originally from 2004 to 2016.  And that would be 13 years.  And even with the additional data for 2017 and 18, that would extend the range to 15 years, correct?

MR. FENRICK:  That's correct.

MR. SIDLOFSKY:  So could you comment on whether or not the samples you have used in your reports meet that practical minimum time dimension that Driscoll and Kraay have estimated in order to use their approach?

MR. FENRICK:  I would say we were aware of this time dimension, you know.  It's fairly common within the literature, you know, it's stated with varied emphasis, you know, from journal article to journal article.  But this is fairly common.

I think context, again, is important here.  When the Driscoll Kraay method we're using does not impact the co-efficients in any way, so it does not impact the benchmark scores.

So that is the first point, you know, essentially this is irrelevant. The only reason we're using this method is to calculate those T stats to assure that the variables should be included in the model.

And, you know, PEG is using basically the same variables.  We're using the same variables.  Very robust T statistics.

The second thing and this is -- my apologies, this is going to get somewhat technical.  Driscoll Kraay, in their 1998, article was building on what's called a Newey-West.  Newey West addressed heteroscedasticity and auto-correlation.

Driscoll Kraay, to my recollection of that article, was building upon that procedure and correcting for something called spatial correlation.

And also applying the Newey West procedure to an unbalanced data set, which is what we're using here -- which is actually why we chose this method because we're using an unbalanced panel data set, and we knew that procedure was appropriate to be using on that data set.

So the DK -- I will call it the DK method -- was an advancement from Newey West, attempting to go after or correct for or adjust for spatial correlation.

PEG's methods, to my knowledge, don't even address spatial correlation.  So to the extent that we're below 20 -- which we are, we're at 15 years -- the spatial correlation correction that Driscoll and Kraay was after won't be fully complete.  You know, there's room for improvement if there were more years.

But it is my belief it is still a better estimator, or better estimate of the standard errors because it is addressing spatial correlation as well as the Newey West procedure of heteroscedasticity and auto correlation.

So again, it's -- and it is irrelevant, because it doesn't impact the co-efficients and the benchmark scores.

So I apologize for the technical answer there, but that's why we were -- you know, we did consider this and why we were okay with using the Driscoll Kraay method, even though the number of years was below twenty.

MR. SIDLOFSKY:  So to try and summarize that, because you are talking to someone who is still trying to pronounce heteroscedasticity.

MR. FENRICK:  Right, and I have trouble with that, too.

MR. SIDLOFSKY:  Your point, I think, is that the time period for this sample isn't particularly relevant because the co-efficients are so robust, or the T stats that you arrive at are so robust, is that a fair summary?

MR. FENRICK:  Yes, I think that's right.  I mean, it is not worth getting into the nuances of -- you know, these are based on Monte Carlo simulations of thousands of thousands of simulations.  Getting into the nuances of can we improve slightly on getting better standard errors which get us better T stats is not relevant.  We have no variables that are on the borderline of whether they should be included or not included.

So, you know, getting into the nuances is not particularly useful from my standpoint.

MR. SIDLOFSKY:  Thank you.  That actually made it a lot clearer for me.  I appreciate that. Thank you.  Panel, those are my questions, thank you.

MS. ANDERSON:  Could I just say you guys don't see the transcript as it comes up, but I just want to applaud our court reporter for that last bit.

[Laughter]

MR. FENRICK:  And my apologies as well.

DR. ELSAYED:  Okay, thank you very much.  Unless there is anything else, we're adjourned for today and we will see everybody on Monday at 9:30.  Have a great weekend.
--- Whereupon the hearing adjourned at 4:25 p.m.
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